

Wayne State University

Wayne State University Theses

1-1-2015

Contaminants Of Emerging Concern: Effects Of Known Neuroactive Agents, Antibiotics, And Chemically Uncharacterized Photodegredates On Behavior And Physiology Of Daphnia Pulex

Vibhuti Matta *Wayne State University,*

Follow this and additional works at: http://digitalcommons.wayne.edu/oa_theses Part of the <u>Medicinal Chemistry and Pharmaceutics Commons</u>

Recommended Citation

Matta, Vibhuti, "Contaminants Of Emerging Concern: Effects Of Known Neuroactive Agents, Antibiotics, And Chemically Uncharacterized Photodegredates On Behavior And Physiology Of Daphnia Pulex" (2015). *Wayne State University Theses*. Paper 428.

This Open Access Thesis is brought to you for free and open access by DigitalCommons@WayneState. It has been accepted for inclusion in Wayne State University Theses by an authorized administrator of DigitalCommons@WayneState.

CONTAMINANTS OF EMERGING CONCERN: EFFECTS OF KNOWN NEUROACTIVE AGENTS, ANTIBIOTICS, AND CHEMICALLY UNCHARACTERIZED PHOTODEGREDATES ON BEHAVIOR AND PHYSIOLOGY OF DAPHNIA PULEX

by

VIBHUTI V MATTA

Thesis

Submitted to the Graduate School

of Wayne State University,

Detroit, Michigan

in partial fulfillment of the requirements

for the degree of

Master of Science

2015

MAJOR: PHARMACEUTICAL SCIENCES

Approved By:

Advisor

Date

© COPYRIGHT BY

VIBHUTI V MATTA

2015

All Rights Reserved

DEDICATION

I would like to dedicate this work to my parents, Vijay Matta and Priya Matta without whom I would not be where I am right now. They have always provided me with unconditional love and support with no expectations. I would also like to dedicate it to my best friend and brother, Prashant Matta and my young at heart grandmother, Kaushalya Matta. Last but not the least Akshay Jadhav

In loving memory of my grandfather, Sridhar Matta......

ACKNOWLEDGEMENTS

First of all, I would like to thank my advisor Dr. David Pitts for being supportive, understanding and immensely helpful along my Master's journey in Wayne State University. I think myself as a very lucky person to have a professor and person like him as my Advisor. I would also like to thank my remarkable committee members Dr. Randall Commissaris and Dr. Shawn McElmurry. Dr.Mc has been with at the very start of the journey and has provided me with his insights, support and encouragement.

This project was also made possible through support provided by Wayne State University (WSU). Department of Pharmaceutical Sciences (PSC) and Biological Sciences. A special thanks to the Kashian Lab for providing us with technical support and algae. Also Dr.Mc for helping us in the transitions of software and Jacob for helping us with all the macro problems we came across

I would also like to thank my past lab members Maya Zein and Bryan Hannan. I would also like to thank Pharmacy students who have helped me in the past year: Jung-Won Soh, Karim Al-Mouabbi, Omar Jadallah, Batool Jafri, Yasmin Saleh, Alexandra Wierbicki, Christopher J Zarecki, Alexandra Husseini, Eduardo Kraetzig Donini, Janaina Rigotti Kubiszeski

This work could not have been possible without the love and support from my family and close friends: Vijay Matta, Priya Matta, Prashant Matta, Kaushalya Matta, Nachiket, Jayant, Vinit, Swapnil, Vikrant, Anvesha and the person who supported me and was patient me through this with all the love and kindness he had;Akshay Jadhav.

DEDICATIONi
ACKNOWLEDGEMENTSii
TABLE OF CONTENTSiii
LIST OF FIGURESiv
Chapter1: Introduction1
Chapter 2: Materials and Methods12
Chapter 3: Contaminants of emerging concern with known targets21
Results21
Discussion
Chapter 4: Contaminants of emerging concern with unknown targets43
Results43
Discussion58
Conclusion
Appendix A64
REFERENCES71
ABSTRACT84
AUTOBIOGRAPHICAL STATEMENT85

TABLE OF CONTENTS

LIST OF FIGURES

Figure 3A: Timeline for experiments for Emerging Contaminants with known biological target. 3B: Timeline for experiments for Emerging Contaminants with unknown biological targets.....15

Figure 5: Behavioral response of *Daphnia pulex* to physostigmine. Error bars are the standard error. 5A: Effects of physostigmine on Accumulated distance. 5B: Effects of physostigmine on Figure 6A: Time-dependent effects of physostigmine on accumulated distance. Error bars are the standard error. 6B: Effect of 0.125 µM on accumulated distance with respect to control. 6C: Effect of 0.25µM on accumulated distance with respect to control. 6D: Effect of 0.5µM on Figure 7A: Time-dependent effects of physostigmine on mean angle. Error bars are the standard error. 7B: Effect of 0.125 µM on mean angle with respect to control. 7C: Effect of 0.25µM on mean angle with respect to control. 7D: Effect of 0.5µM on mean angle with respect to control......24 Figure 8: Effects of physostigmine on HR and ABR of Daphnia pulex: Concentrations: 0.5, 1 and 2µM......25 Figure9: Behavioral response of *Daphnia pulex* to diazinon. Error bars are the standard error. 9A: Effects of diazinon on Accumulated distance. 9B: Time-dependent effects of diazinon on accumulated distance 9C: Time-dependent effects of diazinon on accumulated distance from 120

Figure 15: Behavioral response of *Daphnia pulex* to fluoxetine. Error bars are the standard error. 15A: Effects of fluoxetine on mean angle. 15B: Time-dependent effects of fluoxetine on Mean angle 16C: Time-dependent effects of fluoxetine on Mean angle from 120 to 1440 minutes....35 Figure 16: Effect of different concentrations of fluoxetine on accumulated distance with respect to control. 16A: Effect of 205µM on accumulated distance with respect to control. 16B: Effect of 51µM on accumulated distance with respect to control......36 Figure 17: Effect of different concentrations of fluoxetine on mean angle with respect to control. 17A: Effect of 205µM on mean angle with respect to control. 17B: Effect of 51µM on mean Figure18A: Effect of different concentrations of TCC and TCS over time on accumulated Figure19A: Effect of different concentrations of TCC and TCS over time on mean. 19B: Time course for the effects of TCC and TCS on mean angle......45 Figure 20A: The concentration-dependent effects of four different chemical exposures on *Daphnia pulex* over a 5-day period **20B**: The time- and concentration-dependent effects of four different chemical exposures on *Daphnia pulex* over a 5-day period. **20C:** The overall effect of four different chemical exposure exposures on Daphnia pulex over a 5-day period......47

Chapter 1: INTRODUCTION

"Earth provides enough to satisfy every man's needs, but not every man's greed." — Mahatma Gandhi

The level of impact of human activity on the environment has led to the idea of labeling the current epoch as "Anthropocene" (Zalasiewicz et al., 2010; Dirzo et al., 2014; Lewis et al., 2015; Corlett, 2015). Anthropogenic climate change and the dramatic decline in biodiversity are two of the leading reasons for considering the naming of an epoch according to the impact of a single species (Zalasiewicz et al., 2010; Dirzo et al., 2014; Lewis et al., 2015; Corlett, 2015). Intimately related to this impact of human activity on climate and the diversity of life is the alteration of the chemical composition of the biosphere that includes contamination beyond the greenhouse gases. The level of chemical contamination of the environment found now varies greatly from terrestrial superfund sites to the micro-contamination of aquatic ecosystems (Daughton and Ternes, 1999; Kolpin et al., 2002; Ela et al., 2011, Hutchinson et al., 2013).

The chemical contaminants found in the environment are not homogeneously distributed, and their dispersion is affected by their physical and chemical properties. These chemical contaminants can be found in air, soil (including sediment) and water. They may be dissolved in water or chemically or physically attached to soil particles or sediment. They can be found in small spaces between the soil particles, ground water, and aquifers.

Although there is significant chemical contamination affecting environmental health, the recognition of the magnitude of the problem is lagging well behind efforts to directly improve human health through biomedical research. We depend on the environment to provide us with fresh water, food, shelter and clothing, and chemical contamination can disrupt vital ecological services (Lake et al., 2012; Noyes et al., 2009). Sustaining human health requires a healthy environmental too.

There is an urgent need to understand the impact of environment contamination so that appropriate measures can be taken to preserve environmental health and human health. Population growth, industrialization and urbanization have depleted natural resources and lead to extensive air, soil and water contamination. Environmental health is intimately associated with human health and the impact of anthropogenic contamination on both environmental health and human health is poorly understood. The range of visible human impact on the natural environment is quite extensive, and the terrestrial impact from fossil fuel use, deforestation, mining, the spread of invasive species, and extensive loss of wildlife habitat can be readily observed. What is often less easily observed is the impact of anthropogenic contamination of the aquatic environment

Some of the main sources of chemical and microbial contaminates in aquatic systems include runoff from urban, industrial, and agricultural areas, mining operations, and raw untreated sewage and effluent from wastewater treatment plants (Kolpin et al., 2002; Fong et al., 2007; Kummerer, 2009; Mkandawire, 2013, Yager et al., 2014). The use of pesticides, such as insecticides and herbicides, and antibiotics in the industrialized agricultural system and in the urban areas of the United States is extensive, and a large percentage of these chemicals end up in aquatic systems where they can affect non-target species. Additionally, many of these compounds or may pass through water treatment processes as parent compounds or transformation products (e.g. Ternes et al., 2004) and can threaten the health of humans as well as natural systems.

The diversity of chemicals now contaminating surface and ground water is vast and is rapidly increasing (Kolpin et al., 2002; Lapworth et al., 2012). Chemicals of concern include pharmaceuticals, hormones, pesticides, detergents, polycyclic aromatic hydrocarbons (PAH),

plasticizers, fire retardants, and many others (Kolpin et al.,2002). The original parent compounds that are released into the environment or into wastewater infrastructure can be further transformed through anthropogenic or natural processes into known or unknown transformation products (Kummerer, 2009; Sirtori et al., 2012; Kock-Schulmeyer et al., 2013). Even though we are still in the process of determining the extent to which known compounds have entered the environment as contaminants, there is much less known about the nature of transformation products, their impact and fate.

An understanding of the extent of chemical contamination of the environment has been greatly enhanced in recent years by the development of technology with the sensitivity to detect chemicals at concentrations much lower than previously possible. As advanced analytical methods, such as liquid chromatography-mass spectroscopy (LC-MS), made it possible for scientists and engineers to measure chemicals in the environment at very low concentrations, the extensive micro-contamination of air, soil and water by the chemicals we use has become more apparent. Chemical contaminants found in surface- and ground-water have been termed *contaminants of emerging concern* or CEC's. The U.S. Geological Survey Toxic Substances Hydrology Program defines CECs as follows:

"Contaminants of Emerging Concern" can be broadly defined as any synthetic or naturally occurring chemical or any microorganism that is not commonly monitored in the environment but has the potential to enter the environment and cause known or suspected adverse ecological and(or) human health effects. In some cases, release of emerging chemical or microbial contaminants to the environment has likely occurred for a long time, but may not have been recognized until new detection methods were developed. In other cases, synthesis of

new chemicals or changes in use and disposal of existing chemicals can create new sources of emerging contaminants". (<u>http://toxics.usgs.gov/regional/emc/</u>).

The USGS carried out a seminal study using five newly developed analytical methods to measure the concentrations of 95 organic wastewater contaminants (OWCs) in water samples from 139 streams across 30 states in United States during 1999 and 2000, and the OCWs were found in approximately 80% of the sampled streams. 82 of 95 compounds were detected and they were associated with residential, agricultural and industrial settings (Kolpin et al., 2002). CEC's have been found in the environment worldwide and are generally found in the range of μ g L⁻¹ or ng L⁻¹ (Kolpin et al., 2002; Kummerer, 2009; Hogenboom et al., 2009), but the amount of CEC's detected varies because of many factors such as geographical area (e.g., urban versus rural) population density, and regulatory policies.

There are a number of ways that the CEC's are released into the environment. These chemical contaminants are always subjected to dynamic changes in the environment which are associated with the principles of source, loading and fate. The main sources are industrial, agricultural and residential. Due to ubiquitous distribution in surface water and ground water, hydrologists use some of these chemicals as tracers for the impact of anthropogenic activity on water systems (e.g., caffeine, sweeteners). Although CEC's are often found in the ground and surface water in very low concentrations, they are being continuously loaded and can be found in a biologically active or inactive form. The chemicals may undergo many changes before, during or after entering the environment that result in changes in the solubility, polarity, toxicity and other properties of compound. These transformation products can be created by biotic processes in the environment, e.g., by bacteria or fungi, or by abiotic processes, such as hydrolysis or photo-oxidation (Kummerer 2009).

Even though these chemicals are present in low concentrations in the environment they can have adverse effects on organisms in the ecosystem. They have been shown to affect the normal development, life cycle, and behavior of a number of non-target aquatic organisms. There is evidence of endocrine disruption due to contaminant exposure in the environment. Natural and synthetic estrogen hormones in surface water have been associated with morphological changes in fish characterized as gonadal intersex, and the changed morphology is also associated with increased expression of vitellogenin (Debrow et al., 1998; Routledge et al., 1998). High concentrations of vitellogenin was found in the plasma of male white perched in the Lower Great Lakes region that were observed to be gonadal intersex, suggesting significant exposure to endocrine disruptors (Kavanagh et al., 2004). Pharmaceuticals in surface waters are also suspected of being capable of endocrine disruption. Antidepressants such as fluoxetine (Prozac), which can bioaccumulate, appear to be potential endocrine disruptors in fish (Mennigen et al. 2011). Fluoxetine has also been shown to stimulate reproduction in invertebrates (Flaherty and Dodson, 2005). Clofibric acid, a cholesterol lowering pharmaceutical, increases the proportion of male off spring in Daphnia magna (Flaherty and Dodson, 2005). Demasculinization and complete feminization has been observed in male African clawed frogs exposed to a very potent and commonly used herbicide, atrazine (Hayes et al., 2010), and this feminizing effect has been consistently found among other vertebrate classes (Hayes et al., 2011). Prenatal exposure to atrazine, an endocrine disruptor, has caused malformations of the male genitals such as hypospadias, cryptorchidism and small penis size in humans. (Agopian et al., 2012).

Although the evidence of endocrine disruption occurring within the environment due to anthropogenic contamination is on the rise, evidence of probable behavioral effects due to contaminant exposure is also now being reported. Oxazepam has been shown to alter the behavior of fish at environmentally relevant concentrations (Brodin et al., 2013). Of particular relevance to humans, the prenatal exposure to chlorpyrifos, an organophosphate insecticide and emerging contaminant, has been associated with changes in brain morphology and neurological deficits (Rauh et al. 2012).

Since there is significant evidence of contaminants of emerging concerns having an impact on environmental as well as human health, improved methods for detecting biological effects are greatly needed. The waterflea, *Daphnia*, is an organism that has been commonly used for water quality testing and is considered a model organism for biomedical research (http://www.nih.gov/science/models/daphnia).. Most often the biological endpoint measured is immobility, an indirect measure of concentration-dependent lethality expressed as an EC₅₀ value. While this approach has great utility, it likely underestimates the potential impacts of contaminants because sub-lethal effects are not evaluated. Recently Zein et al. (2014, 2015) have developed an optical tracking technique to evaluate sub-lethal effects of individual contaminants, contaminant combinations, or complex mixtures on *Daphnid* behavior.

Daphnia pulex is a freshwater zooplankton that is a very important in freshwater ecosystems. These animals are found in freshwater ecosystems throughout the world including the Great Lakes watershed in the USA (Carpenter 1987). *Daphnia* are considered to be a keystone species. If a keystone species is lost, the whole aquatic ecosystem is altered. (Flathery and Dodson 2005).

Daphnia feed on phytoplankton such as algae and also bacteria and protozoans. They are in turn a source of food for larger invertebrates and vertebrates in the food web such as hydra, salamanders, fish etc. (Tessier et al., 2000). Therefore, changes in life history of *Daphnia* can bring about an imbalance in the aquatic ecosystem and hence eventually affect freshwater

ecosystems upon which the human population depends, and this is one of the reasons why the EPA has developed standardized bioassays to assess the effects of water contaminants on *Daphnia*. In fact, a recent study has reported such changes in North American aquatic ecosystems due to the loss of *Daphnia* (Jeziorski et al., 2015).

Daphnia are very sensitive to changes in the environment such as availability of food, predation, water chemistry, oxygen level, temperature changes, etc. *Daphnia* also have developed specialized mechanisms to adapt to changes in the environment.. They undergo morphological changes and form helmet and teeth-like structures in the presence of kairomones, chemical hormones released by predators. In addition, *Daphnia* are capable of changing their physiology in response to stress. For example, low oxygen triggers production of Hb and gives a reddish color to the haemolymph and an up-regulation of anaerobic metabolism. Daphnia also respond to environment stressors by switching from asexual to sexual reproduction. (e.g., see Altshuler et al., 2011; Colbourne et al.,2011for review). These adaptations to environmental change are made possible through epigenetic regulatory mechanisms (Coors et al., 2004). Therefore, Daphnia are ideal for evaluating water quality and the toxicity of contaminants of emerging concern, since they are very sensitive to environmental stressors.

The standardized bioassays developed by the EPA take advantage of *Daphnid* sensitivity to environmental changes to evaluate water quality. They are designed to carry out traditional LC_{50} tests, where the focus is on estimating the lethal concentration that kills 50% or more animals. However, significant effects such as altered motor function, developmental changes, changes in life processes such as reproduction and growth can be observed at levels below the LC_{50} concentrations. (Zein et al., 2014; Dodson and Hanazato 1995).

Regulatory risk assessment generally focuses on single chemicals in a controlled environment whereas organisms are often exposed to complex mixtures (Pavlaki et al., 2011). Since chemical contaminants can interact and have additive, synergistic, or antagonistic effects (Altshuler et al., 2011; Zein et al., 2015) on biological systems there is a need for new assessment methods that can evaluate sub-lethal effects at low concentrations. Since aquatic organisms can be continually exposed to a number of water contaminants simultaneously, assay systems that can evaluate the large number of contaminants as single chemicals, combinations of specific chemicals, or poorly characterized complex mixtures are needed to assess the risk.

This study focuses on utilizing novel *Daphnid* optical bioassays to examine the toxicity of selected contaminants of emerging concern. The chemicals selected for this study are found in surface water. Chemicals that are known neuroactive agents were selected. The insecticide, diazinon, and the antidepressant, fluoxetine are known to have effects on specific neurotransmitter systems. Since *Daphnia* are known to have the target neurotransmitter systems for diazinon (cholinergic system) and fluoxetine (serotonergic system), but would be considered to be "non-target" organisms, it was of interest to characterize the behavioral effects in *Daphnia* resulting from exposure. Triclosan and triclocarban are antibiotics that are used in antibacterial soaps and a number of other products, and these chemicals and their transformation products resulting form photodegredation are commonly found in surface water. Therefore, it was of interest to evaluate the behavioral effects of chemicals that do not have any known biological targets within *Daphnia*.

Two different optical tracking assays were used to evaluate changes in *Daphnid* swimming behavior and *Daphnid* cardio-respiratory function as a result of exposure to diazinon, fluoxetine, triclosan, triclocarban and photodegredates of the two antibiotics.

Diazinon

Diazinon is an organophosphate insecticide. It is an acetylcholinesterase (AChE) inhibitor. AChE breaks down the acetylcholine (ACh) into choline and acetate. Inhibition of AChE results in excessive accumulation of ACh in the synapse and results in toxicity. Diazinon has been used in the United States since 1956. It was used for agricultural as well as household purposes. In 2002, it was outlawed for indoor uses and in 2004 for outdoor uses, such as gardening. It has since been used for agricultural purposes only. Diazinon products are available as dust, granules, liquid concentrate, seed dressings and cattle ear tags (EPA 2012). It can be found in the environment as a result of run-off from farming areas at concentrations of approximately 0.35ug/L (Koplin et al., 2002). It has been shown that there is a significant reduction in reproduction, survival rate, intrinsic rate of natural increase, mean carapace length observed in *Daphnia magna* exposed to diazinon (Sanchez et al., 2000)

Physostigmine

Physostigmine is a reversible acetylcholinesterase inhibitor. It has the same mode of action as the organophosphate insecticides, but does not covalently bind to AChE. It is used to treat glaucoma, Alzheimer's disease and has recently been used for treatment of orthostatic hypotension. To the best of our knowledge, physostigmine has not been identified as a contaminant of emerging concern. However, physostimine has been used extensively in pharmacological studies and serves as a good reference compound that shares the mode of action of many acetylcholinesterase insecticides (Zein et al., 2014).

Fluoxetine

Fluoxetine is an antidepressant frequently observed in surface waters downstream municipal wastewater treatment plant discharges. Fluoxetine is a serotonin reuptake inhibitor and is classified as a selective serotonin reuptake inhibitor (SSRI). It is an anti-depressant that is highly prescribed under the brand name 'Prozac' (NDC Health, 1999). Fluoxetine is also prescribed to treat compulsive behavior as well as eating and personality disorders (Brooks et al., 2003, Kolpin et al., 2002). It is found in the concentration of approximately $0.012 - 1.4 \mu g/L$ in the surface water. Chronic exposure to fluoxetine has shown to significantly increase the number of offspring produced by an individual *Daphnid mother* in her lifetime (Flaherty 2005).

Triclosan and Triclocarban

These two antibiotics are biologically active compounds and are very soluble in water with low biodegradability, hence there is a risk of bioaccumulation in aquatic organisms (Wollenberger et al., 2000). Triclosan (TCS) and Triclocarban (TCC) are polychlorinated aromatic compounds which kill micro-organisms rapidly via a non-specific action (Halden 2014) Although there is literature on TCS and TCC, little is known about or their fate in the environment (Halden and Paull 2005).

TCS is used as an antiseptic agent in many medical products, shampoos, deodorants, medicinal skin creams, dental products such as mouthwash and toothpaste and is most prevalent in soaps (0.10 - 1.00%) (Singer et al., 2002). The incorporation of TCS into a variety of products has resulted in widespread discharge into the environment from in wastewater treatment plants and into surface waters (Singer et al., 2002). According to the USGS survey carried out in 2002, triclosan has been found in the concentration of approximately 2.3 µg/L (Kolpin et al., 2002). At a relatively low exposure concentration $(1 - 16\mu g/L)$ *Daphnia magna* are found to increase their rate of reproduction and in size (i.e. body length), whereas the opposite occurs when exposed to higher concentrations (64-128µg/L). In addition, the total number of times

molting occurred per animal was found to decrease when exposed to TCS (Peng et al., 2013). Like TCS, TCC is an antimicrobial agent that is also found in personal care and medical products. About 75% of liquid soaps and 29% of bar soaps manufactured in the United States contain TCC (Perencevich et al., 2001).

This thesis addresses two hypotheses:

(1) The anticholinesterase inhibitor and insecticide, diazinon, has significant effects on swimming behavior and cardiorespiratory function at environmentally relevant concentrations. A corollary to this hypothesis is that other anticholinesterase inhibitors have similar behavioral and cardiorespiratory effects. Physostigmine, which is an anticholinesterase that is well characterized in the literature will serve as a prototypical compound to compare to diazinon.

(2) The broad spectrum antibiotics, triclosan and triclocarban and their photo-degradative products have significant effects on swimming behavior and survival at environmentally relevant concentrations.

Chapter 2: MATERIALS AND METHODS

BEHAVIORAL ASSAY

To evaluate the sub-lethal effects of select emerging contaminants, optical tracking of *Daphnia pulex* was performed according to the method described by Zein et al. (2014).

Animals

D. pulex utilized in the bioassay were collected from a pond at the Michigan State University Kellogg Biological Station in 2008. *Daphnia pulex* were cultured and maintained in 4L glass jars in an incubator at 21±0.5°C. The incubator was illuminated to create a 16/8 hour light/dark cycles. The animals were fed 3 times a week with a 50/50 algae mixture of *Ankistrodesmus falcatus* and *Chlamydomonas reinhardii*. The animals were maintained in COMBO culture medium, which can support the growth of zooplankton (Kilham et al., 1998). The composition of COMBO is described below under Drugs, Chemicals and Solutions

24-Well Plate Setup

Daphnia were removed from the culture and passed through a mesh screen to select daphnia of uniform size (>1.4 mm) for the experiments. The selected daphnia were placed randomly in the 24-well plate (Corning Costar, Sigma-Aldrich). A single *daphnia* was placed into each well using an eyedropper. Each well held 3.5 ml of solution when full. Once the daphnia was placed in the well, the excess COMBO present in the wells was removed and discarded with the help of a narrow tip pipette, so as to prevent the dilution of added chemicals solutions. Solutions of different concentrations of the chemicals to be studied were placed randomly in the 24-well plate. The entire plate setup procedure required approximately 15 minutes.

Optical Tracking

Once the 24-well plate was prepared with the solutions and *Daphnia*, it was placed on a clear Plexiglas table with an LED light plate source underneath (Art Light). An Infinity 2-1M digital monochrome camera (Lumenera Corporation, Ottawa, Ontario) was used with a telecentric lens (Opto Engineering, Houston, TX). The setup used to record the swimming behavior of Daphnia is shown in Figure 1A and 1B.





1B

Figure1A: Camera, lens and 24 well plate setup for swimming behavior assay. 1B: 24 well plate with solutions and freely swimming Daphnia

A camera resolution of 1280 by1024 was used to capture the videos in an AVI format. Video files were analyzed using the 2D tracking module in Image Pro Premier 9 software (Media Cybernetics, Rockville, MD).



Figure 2

Figure 2: A video file that has been tracked for Daphnid movement. Each well contains one daphnia

Experimental Design

In a typical experiment, 5 second videos were recorded every 10 minutes for 180 minutes, then every hour for the next three hours and at the 24th hour. Therefore at the end of each experiment Daphnia were exposed to each chemical for 24 hours. Every 5 second

recording consisted of a total of 145 frames that were used to track and quantify *Daphnia* movement.

The two parameters used to quantify *Daphnia* swimming movements were maximum accumulated distance and mean angular change. Accumulated distance was measured by the summing the distance covered between two frames over the course of the 5 sec video (145 frames). The angular change was measured by comparing the change in direction of movement over the course of 145 frames. Rigorously, angular change is based on the change in the vector (the direction of movement that occurs between frames) across three frames (see Zein et al., 2014 for more details). The change in angle is reported as the mean angle for the 5 sec video. Fig3A and Fig3B illustrates the timeline used for the experiments



B) unknown biological targets

Figure 3A: Timeline for experiments for Contaminants of emerging concern with known biological target. **3B**: Timeline for experiments for Contaminants of emerging concernwith unknown biological targets

Statistical Analysis

Statistica (Version10, Tulsa, OK, USA) was used for statistical analysis. A repeated measures of analysis of variance (ANOVA) with time as the repeated measure was used to evaluate swimming behavior. The dependent variables were Accumulated Distance (mm) and Mean Angle (degrees). The independent variables were parameters (Maximum Accumulated Distance and Mean Angle), chemical, and concentration. A three-way ANOVA was used to evaluate the behavioral results from exposure to TCS and TCC. The dependent variables were accumulated distance and mean angle. The independent variables were chemical (COMBO/TCS/TCC), concentration (low, high) and time (0 to 90 minutes). The least significant difference (LSD) post-hoc test was used for multiple comparisons following ANOVA. In selected cases contrast analysis was also used to compare a series means across groups following ANOVA.

PHYSIOLOGICAL ASSAY

Aquatic Chamber:

A rectangular 8.0cm x 3.2cm x 1.5cm (LWH) aquatic chamber was custom built from a 1.5cm thick Plexiglas by the College of Engineering machine shop, Wayne State University. A 2cm hole drilled in the middle of the rectangular Plexiglass base and the bottom was sealed with a regular rectangular borosilicate microscope glass slide. Two 23-gauge stainless steel hypodermic tubes were used as an inlet and outlet to the cylindrical chamber for the perfusion of solutions. A small collection well near the outlet was used to collect the solutions exiting the chamber and measure water temperature using a temperature probe (Physitemp Instruments Inc., Clifton, NJ). A Plexiglass top with a threaded cylindrical plunger was used to seal the perfusion chamber. The cylindrical plunger used a round rubber gasket and circular cover glass

to complete the seal. The chamber was placed on the microscope stage on top of a TS-4SPD heating and cooling stage (Physitemp Instruments, Inc.).





4A

4B



4C

4D

Figure 4A: Side view of the aquatic chamber. **4B:** Top view of the aquatic chamber. **4C:** Aquatic chamber with setup, microscope, temperature probe, inlet and outlet tubes. **4D:** Daphnia on a pin

Animal Preparation:

An adult *Daphnia* was isolated and glued on the tip of 33 gauge stainless steel tubing which was 10 mm in length using <1nL of cyanoacrylate glue. The stainless steel tubing was glued to the dorsal side of the head between anterior of the heart and the posterior to the eye in parallel to the anterior-posterior body axis. The 33 gauge tubing holding the animal was placed into a 26 gauge tube fixed inside the aquatic chamber to place the animal in a consistent viewing position. The chamber was filled with COMBO and then was closed with a top chamber-viewing insert. The animals were able to freely move their swimming antennae and appendages once inside the chamber. Each animal was observed under a 4x Nikon microscope objective. The animal's heart, appendages, swimming antennae, eye movement and gut were clearly visible through the translucent exoskeleton.

Experimental Design:

10 sec video recordings were recorded every 10 minutes using an Infinity 2M-1 monochrome camera (Lumenera Corporation, Ottawa, Ontario). The video file was analyzed for motor activity using the 2D tracking module from Image Pro Premier 9 software (Media Cybernetics, Rockville, MD). Animal movement was analyzed by measuring density-intensity changes within an area of interest (AOI). The oscillating movement of the heart wall or appendages through this defined AOI was used to calculate beat rate per minute.

Optical Tracking

At the beginning of the experiment COMBO was perfused through the chamber for 30 minutes at a rate of 10μ L/min at 20°C. This temperature was close to that of the culture in the incubator. Temperature was then reduced to 15°C after 30 minutes and perfused with COMBO continued for one hour at the rate of 10μ L/min. When drugs or chemicals were delivered to the chamber the pump rate was increased to 250μ L/min for approximately 2.5 minutes and then

returned back to 10μ L/min. The duration of drug or chemical application depended on the timing of the responses observed and occurred over a period of 1- to 4-hours.

Statistical Analysis

The statistical analysis was carried out using Statistica software (Version10, Tulsa, OK, USA). A repeated measures ANOVA with time as the repeated measure was used to analyze motor activity. The dependent variables were HR and ABR. The independent variables were parameter (HR/ABR) and concentration. In selected cases contrast analysis was used to compare a series of means across groups after ANOVA.

SURVIVAL ASSAY

The survival assay was carried out for a period of 5 days. The *Daphnia* were selected for these experiments using a screen to filter by size and were approximately 1-day old. On exposure Day-0, different concentrations of the solution to be tested were prepared in EPA water (http://water.epa.gov/scitech/methods/cwa/wet/upload/2007_07_10_methods_wet_disk2_atx7-

10.pdf). . Daphnia were temporally collected in a watch glass until a total of five were obtained which were then transferred as a group into a 150 ml beaker containing a test solution. There were 4 replicates of each test solution, and therefore a total of 20 animals were used for each test solution. To minimize light exposure, the beakers were placed into an open lab drawer and covered with foil (shiny side out) to ensure darkness because the compounds are photo-sensitive but to also sufficient air-flow. Temperature was monitored by a thermometer kept in the lab drawer. On Day-1, each beaker was checked for number of surviving *Daphnia* and the survival number was noted as well as the room temperature. On day-2 the solutions were changed. Two hours prior to changing the solutions, the *Daphnia* were fed with reconstituted YTC mix (Carolina biological, Burlington, NC,). A few drops of the mix was gently pipetted into each

beaker. Once the *Daphnia* were allowed to feed for 2 hours, they removed from the beaker and placed on a watch glass and the number of surviving *Daphnia* was noted. The beakers were cleaned with a few drops of EPA water to remove any food residue at the bottom of the beaker and refilled with fresh EPA water. Once the *Daphnia* are placed back into the beaker the watch glass was rinsed with methanol followed by EPA water and then wiped down to avoid any cross-contamination. On Day-3 and Day-4, the number of surviving daphnia in each beaker and room temperature was recorded.

Drugs, Chemicals, and Solutions

Stock solutions of each chemical as well as the dilutions were made on the same day as the experiments performed. All the chemicals were purchased from Sigma-Aldrich (St. Louis, MO). The drugs, physostigmine (10mM stock solution) and fluoxetine(10mM stock solution), used in this study were directly dissolved in COMBO except for diazinon. A 10 mM diazinon stock solution was made in acetone and then test solutions were made in COMBO using a serial dilution technique. The highest concentration of diazinon used contained 0.002% acetone. All of the control solutions in diazinon experiments also contained 0.002% acetone to nullify if there is any effect of acetone . Physostigmine and fluoxetine were stored at room temperature. Diazinon was stored in a cool and dark place. The stock solution for parent compounds and photolyzed triclosan and triclocarban (10mM) were made in methanol and the dilutions were prepared in EPA moderately hard water. Parent triclosan and triclocarban were placed in a foil packet in amber colored bottles at room temperature, whereas the photolyzed compounds were covered with foil and kept in a cool and dark place.

Chapter 3: Contaminants with known targets

RESULTS

Physostigmine

Behavioral analysis

Figure 5A illustrates the effects of physostigmine on accumulated distance. A significant stimulatory effect of physostigmine on swimming behavior was observed as a concentration-dependent increase in accumulated distance ($F_{5,108} = 6.96$, P<0.001), with the accumulated distance for the 0.125, 0.25 and 0.5µM concentrations significantly greater than the 0µM control (LSD test, P<0.05 for all cases). The effect of physostigmine on mean angle is illustrated in Figure 5B. A non-significant decrease in mean angle was also elicited by physostigmine, with the lowest mean value observed at a concentration of 0.25µM.

The time-course for the effects of physostigmine on accumulated distance is illustrated in Figure 6A. Physostigmine elicited a significant concentration-dependent effect over the time-course on accumulated distance (concentration x time interaction, $F_{115, 2484} = 1.99$, P<0.001). Contrast analysis for the 60 to 240 minute time interval indicated that the accumulated distance for the 0.125, 0.25 and 0.5µM concentrations were significantly greater than the 0µM control (P<0.05 in all cases). The highest concentration, 0.5µM, eventually caused a significant depression in accumulated distance relative to control at the 6- and 24-hour time-points (LSD test, P<0.05 in both cases). Visual observations of the video recordings at 6-and 24-hours indicated that 14 out of 19 and 16 out of 19 of the animals were immobilized by the 0.5µM concentration respectively. Figure 6B, C, and D separately illustrate the effects of each of the concentrations on accumulated distance relative to control

The time-course for the effects of physostigmine on mean angle is illustrated in Figure 7A. Physostigmine elicited a significant concentration-dependent decrease in mean angle over time (concentration x time interaction, F $_{115, 2482} = 1.43$, P<0.005). The 0.125, 0.25 and 0.5µM concentrations were significantly lower than the 0µM control for the 60 to 240 minute time interval (contrast analysis, P<0.05 in all cases). The highest concentration, 0.5µM elicited a significant increase in mean angle at the 6- and 24-hour time-points (LSD test, P<0.05 in both cases) Figure 7B, C, and D separately illustrate the effects of each of the concentrations on mean angle relative to control



Figure 5: Behavioral response of *Daphnia pulex* to physostigmine. Error bars are the standard error. 5A: Effects of physostigmine on accumulated distance. 5B: Effects of physostigmine on mean angle.



Figure 6A: Time-dependent effects of physostigmine on accumulated distance. Error bars are the standard error. **6B**: Effect of 0.125 μ M on accumulated distance with respect to control. **6C:** Effect of 0.25 μ M on accumulated distance with respect to control. **6D**: Effect of 0.5 μ M on accumulated distance with respect to control. **6D**: Effect of 0.5 μ M on accumulated distance with respect to control.



Figure 7A: Time-dependent effects of physostigmine on mean angle. Error bars are the standard error. **7B**: Effect of 0.125 μ M on mean angle with respect to control. **7C:** Effect of 0.25 μ M on mean angle with respect to control. **7D**: Effect of 0.5 μ M on mean angle with respect to control

Physiological Analysis

Physostigmine elicited a significant concentration- and time-dependent effect on HR and ABR, which is depicted in Figure 8 (Concentration x Time x Parameter effect, P<0.001). The 0.5 μ M concentration did not elicit any significant effects (contrast analysis, P>0.40 for both parameters), but the 1 μ M and 2 μ M concentrations completely suppressed ABR after 60 min of exposure (contrast analysis, p<0.001 in both cases). There were small, but non-significant decreases in HR for the 1 μ M and 2 μ M concentrations (contrast analysis, P>0.10 in both cases). It should be noted that the reduction in ABR observed most often exhibited an irregular pattern, with intermittent pauses in the movement of the appendages followed by resumption of activity at a lower level until activity ceased. A partial recovery from the effects of exposure to high concentrations of physostigmine was observed following perfusion with drug-free COMBO solution. Recovery was monitored for *D. pulex* and on average it took approximately 60 min for ABR to reach 50% of its ABR reading prior to drug application (n=10).



ABR of *Daphnia pulex*: Concentrations: 0.5, 1 and 2μ M. time points -30 to 0 show animals in COMBO. Time points 0 to 60 show the period the animal was in contact with the drug, physostigmine.

Diazinon

Behavioral analysis

Figure 9A illustrates the effects of diazinon on accumulated distance. A significant effect of diazinon on swimming behavior was observed as concentration-dependent changes in accumulated distance ($F_{7, 64}$ = 2.93, P<0.01). The accumulated distance for the 500 and 125 nM concentrations were significantly lower than the 0nM control (LSD test, P<0.05 in both cases). The 0.125nM concentration stimulated swimming behavior and the accumulated distance was significantly higher than the 0nM control (LSD test, P < 0.05). The time-course for the effects of diazinon on accumulated distance is shown in Figure 9B. There was a significant time x concentration effect ($F_{161,1472} = 1.78$, P<0.001) and the effects of diazinon on accumulated distance increased progressively over time, with the effects from the lower concentrations taking a little longer to develop than the higher concentrations. An analysis of the concentrationdependent effects of diazinon which focused on the time points after 120 minutes is shown in Figure 9C. When this later period in the time-course, was examined (after 120 minutes) significant effects of diazinon on accumulated distance was found ($F_{7, 64} = 2.93$, P < 0.001), and there was a decrease in the size of the standard errors associated with the mean values. This reduction in standard error reflected the more pronounced effects of diazinon in the later part of the time-course. Contrast analysis, examining the period from 120 minutes to 24-hours indicated that the 0.125 nM concentration significantly elevated the accumulated distance relative to control (P<0.05), while the 500 and 125 nM concentrations significantly decreased accumulated distance (P<0.05). Figure 10D, E and F separately illustrate the effects of each of the 0.125nM, 125nM, and 500nM concentrations on accumulated distance relative to control

The effect of diazinon on mean angle is illustrated in Figure 11A. A significant concentration-dependent increase in mean angle was elicited by diazinon ($F_{7, 64} = 4.90$, P<0.001) with the lowest mean value observed at a concentration of 0.125nM and the highest mean value observed at a concentration of 500nM. Figure 11B shows the significant time- and concentration-dependent effects of diazinon on mean angle ($F_{161, 1472} = 2.48$, P<0.001). When the later time-course after 120 minutes was examined a significant time- and concentration-dependent effect was observed with a corresponding decrease in the magnitude of the standard errors associated with the mean values (Figure 11C, $F_{7, 64} = 10.84$, P<0.001) When individual animal recordings were evaluated at the 24hr time point, immobilization was observed in the following proportions for the various concentrations (immobilized/total): 0(0/9), 0.125 (0/9), 0.5 (4/9), 2 (3/9), 8 (1/9), 32 (9/9), 125 (9/9), and 500 nM (9/9). Figure 12D, E and F separately illustrate the effects of each of the concentrations on accumulated distance relative to control


Figure9: Behavioral response of *Daphnia pulex* to diazinon. Error bars are the standard error. **9A**: Effects of diazinon on Accumulated distance. **9B**: Time-dependent effects of diazinon on accumulated distance **9C**: Time-dependent effects of diazinon on accumulated distance from 120 to 1440 minutes



Figure 10: Effect of different concentrations of Diazinon on accumulated distance with respect to control. **10A**: Effect of 0.125nM on accumulated distance with respect to control. **10B**: Effect of 125 nM on accumulated distance with respect to control. **10C**: Effect of 500nM on accumulated distance with respect to control



Figure11: Behavioral response of *Daphnia pulex* to diazinon. Error bars are the standard error. **11A**: Effects of diazinon on mean angle. **11B**: Time-dependent effects of diazinon on Mean angle **11C**: Time-dependent effects of diazinon on Mean angle from 120 to 1440 minutes



Figure 12: Effect of different concentrations of diazinon on mean angle with respect to control. **12A**: Effect of 0.125nM on mean angle with respect to control. **12B**: Effect of 125nM on mean angle with respect to control. **12C**: Effect of 500nM on mean angle with respect to control

Physiological Analysis

The physiological effects of diazinon $(0.5 - 4.0\mu\text{M})$ on heart rate (HR) and appendage beat rate (ABR) are depicted in Figure 13. For all of the diazinon responses analyzed, a minimum of 3 hours of responses were recorded. In selected cases a longer time-course was recorded. Diazinon elicited a significant concentration- and time-dependent effect on HR and ABR (Concentration x Time Interaction, $F_{42,126}$ =2.65, P<0.001) over the 3 hour period of exposure. The physiological effect of diazinon also differed significantly between the HR and ABR parameters (Concentration x Time x Parameter Interaction, $F_{42,126}$ =3.62, P<0.001). An LSD test indicated that HR was not significantly affected by diazinon within the 3 hour exposure period. Diazinon elicited a time- and concentration-dependent inhibition of ABR. Within the 3hour exposure period ABR was significantly inhibited during only one time period, 140 minutes, following 0.5 μ M diazinon exposure (P<0.05). However, the ABR was completely inhibited after 3 hours in 2 out of 3 cases. 1 μ M diazinon significantly inhibited ABR at time periods greater than 140 minutes (P<0.05 in all cases). 2 μ M diazinon significantly inhibited all time periods greater than 90 minutes (P<0.05 in all cases).



of fluoxetine on accumulated distance. The concentration-effect of fluoxetine on accumulated distance was not significant ($F_{7, 64}$ = 0.66, P>0.50). The time-course for the effects of fluoxetine on accumulated distance is shown in Figure 14B. There was a significant time x concentration effect ($F_{161, 1472}$ = 1.42, P<0.001) on accumulated distance. An analysis of the concentration-dependent effects of fluoxetine which focused on the time points after 120 minutes is shown in Figure 14C. A significant effect of fluoxetine on accumulated distance was also found for this later period in the time-course ($F_{77, 704}$ = 1.33, P < 0.01). Contrast analysis, examining the period from 120 minutes to 24-hours indicated that the 51µM concentration significantly elevated the accumulated distance relative to control (P<0.05), while the 205µM concentration significantly decreased accumulated distance (P<0.05). Figure 15A and B separately illustrate the effects of each of the concentrations on accumulated distance relative to control.

The effect of fluoxetine on mean angle is illustrated in Figure 16A. The concentration effect of fluoxetine on mean angle was not significant ($F_{7, 64} = 1.80$, P>0.50). Figure 16B shows the significant time- and concentration-dependent effects of fluoxetine on mean angle (F= 1.85, P<0.001). An analysis of the concentration-dependent effects of fluoxetine which focused on the time points after 120 minutes is shown in Figure 16C. When the later time-course after 120 minutes was examined a significant time- and concentration-dependent effect was also observed (F_{77, 704} = 1.57, P< 0.05). When individual animal recordings were evaluated at the 24hr time point, immobilization was observed in the following proportions for the various concentrations (immobilized/total): 0 (1/9), 0.05 (1/9), 0.2 (1/9), 0.8 (1/9), 3.2 (2/9), 12.8 (2/9), 51(9/9) and 205(9/9). Figure 17A and B illustrate the effects of each of the concentrations on mean angle relative to control separately.



Figure14: Behavioral response of *Daphnia pulex* to fluoxetine. Error bars are the standard error. **14A:** Effects of fluoxetine on Accumulated distance. **14B:** Time-dependent effects of fluoxetine on accumulated distance **14C**: Time-dependent effects of fluoxetine on accumulated distance from 120 to 1440 minutes



Figure15: Behavioral response of *Daphnia pulex* to fluoxetine. Error bars are the standard error. **15A:** Effects of fluoxetine on mean angle. **15B:** Time-dependent effects of fluoxetine on Mean angle **15C:** Time-dependent effects of fluoxetine on Mean angle from 120 to 1440 minutes



Figure 16: Effect of different concentrations of fluoxetine on accumulated distance with respect to control. 16A: Effect of 205μ M on accumulated distance with respect to control. 16B: Effect of 51μ M on accumulated distance with respect to control



17A 17BFigure 17: Effect of different concentrations of fluoxetine on mean angle with respect to control. 17A: Effect of 205µM on mean angle with respect to control. 17B: Effect of 51µM on mean angle with respect to control

DISCUSSION

Physostigmine

Daphnia pulex are known to have a cholinergic neurotransmitter system, including homologs for the synthetic enzyme, choline acetyltransferase, the vesicular ACh transporter, the degradative enzyme acetylcholinesterase, and nicotinic and muscarinic receptors (McCoole et al., 2012a). In the present study the acetylcholinesterase (AChE) inhibitor, physostigmine, elicited a significant and relatively rapid concentration-dependent increase in maximum accumulated swimming distance over the 24 hour timecourse. The onset time for the increase in distance was also concentration-dependent, with higher concentrations, $0.25 - 0.5 \mu M$, producing significant stimulation of swimming earlier in the time-course (less than one hour) than the lower $0.125 \,\mu M$ concentration (greater than one hour). As has been shown in a previous study by Zein et al. (2014) examining a shorter 90 minute time-course, the increase in swimming distance was associated with a significant decrease in mean angle over the first three to four hours for these same concentrations $(0.125 - 0.5 \mu M)$, which is indicative of a decrease in turning behavior. However, by the sixth hour of the time-course the higher, $0.5 \Box \mu M$ physostigmine concentration, elicited a significant increase in mean angle that was associated with animals becoming immobilized due to exposure. To the best of our knowledge, this study and the previous paper by our lab, Zein et al. (2014), represent the only behavioral studies examining the effects of physostimine on Daphnia pulex.

Physostigmine (0.5 to 2 μ M) also elicited a significant concentration-dependent inhibition of appendage beat rate (ABR), but not heart rate (HR). The onset for ABR inhibition was approximately 30 to 40 minutes at the 1 and 2 μ M concentration (Hannan et al., in preparation). The lack of effects of physostigmine on heart rate differs from the inhibitory effect on *Daphnia magna* heart rate described by Baylor (1942). However, the experimental setup used by Baylor differs significantly, and Baylor does not show these physostigmine results, concluding that these were "toxic" effects. To the best of our knowledge this is the first report of the inhibitory effects of physostigmine on ABR. Inhibition of ABR would be expected to affect both feeding and respiratory function.

Diazinon

The AChE inhibitor and emerging contaminant, diazinon, elicited concentration-dependent behavioral effects on maximum accumulated distance and mean angle qualitatively similar to physostigmine. Diazinon appeared to be more potent than physostigmine since stimulation of swimming behavior, seen as an increase in maximum accumulated distance, was detected at the lowest concentration of 0.125 nM. The stimulatory effects of diazinon were observed with a much more rapid onset relative to physostigmine at the 125 nM concentration (i.e., the first, time-0, reading for diazinon versus greater than one hour for physostigmine). A corresponding decrease in mean angle was also seen for 125 nM diazinon. It should be noted that the stimulatory response to the lowest 0.125 nM concentration of diazinon occurred particularly late in the time-course, after approximately four hours of exposure. However, the increase in mean angle over the diazinon concentration range studied tended to predominate for most of the higher diazinon concentrations, indicating an increase in turning behavior eventually that eventually resulted in 100% immobility at 24 hours for the highest concentrations (32-500 nM). The increase in mean angle and increase in immobilized animals over this extended concentration range and longer 24-hour time course is consistent with our previous reports examining responses to higher concentrations of diazinon (e.g., 1 and 2 µM) over a shorter 90-minute period (Zein et al., 2015).

To the best of our knowledge this study and the previous paper by Zein et al. (2015) represent the only behavioral studies examining the effects of diazinon on *Daphnia pulex*. The 0.125 nM diazinon concentration is lower than the LC₅₀ value of 0.9μ g/L (2.9 nM) reported by Fernandez et al. (1994) for *Daphnia magna*. For Daphnia LC₅₀ assays immobility rather than death is typically used as the end point, and it is assumed that immobility was the end point used by Fernandez et al. (1994) in their 24-hour study even though their methods describe the end point as mortality. In the present study, immobilization was not observed after 24 hours of exposure at 0.125 nM.

This diazinon concentration is environmentally relevant since similar concentrations have been detected in surface waters (e.g., see Kolpin et al., 2002), and the behavioral stimulation observed in the

present study suggests that diazinon might affect behavior in the real world habitat. For example, alterations in behavior may affect survival by making daphnia more prone to predation. Higher concentrations of diazinon have been found to increase the rate of predation of *Daphnia pulex* by *Hydra littoralis* under controlled experimental conditions (Zein et al., in preparation). Since contaminants of emerging concern are generally found as complex mixtures, the presence of bioactive concentrations of diazinon in the aquatic environment may exhibit increased toxicity due to additive or synergistic interactions with other contaminants. For example, Zein et al. (2015) reported a potential synergistic interaction between diazinon and the detergent metabolite, 4-nonylphenol, which is also commonly found in surface waters.

Diazinon elicited physiological responses qualitatively similar to physostigmine, eliciting an inhibition of ABR at the two higher concentrations studied, 1 and 4 \Box M, without affecting HR. However, the onset of the response was much later in the time-course for the effect on ABR. The onset of the ABR response for diazinon was more than two hours after the initiation of exposure compared to 30 to 40 minutes for similar physostigmine concentrations.

Comparison of physostigmine and diazinon

While the qualitative effects of the two AChE inhibitors, physostigmine and diazinon, were very similar, the quantitative aspects in terms of concentrations eliciting a certain level of response and onset times in particular were quite different. Although the mode of action is very similar for these two agents, the mechanism of acetylcholinesterase inhibition is different. Physostigmine is a carbamate inhibitor, which elicits a reversible inhibition of enzyme activity. The inhibitory effect is reversed by hydrolysis of the carbamate group from AChE (Taylor, 2011). Diazinon is an organophosphate inhibitor which is converted to an active metabolite, diazoxon, that creates a long-lasting covalent bond to AChE (Kretschmann et al., 2011). Although, these differences in action may contribute to the differing response profiles between these two agents, the difference in octanol/water coefficients may play a larger role. Diazinon was shown to be capable of eliciting a stimulation of swimming behavior that was recorded at the "0" time-point, which suggests that diazonon is rapidly generated. However, the time to onset of

response varied widely among the various responses measured, with a particularly long onset for inhibition of ABR even though the diazinon concentrations required to elicit these responses were much higher. The octanol-water partition coefficient for physostigmine is only 1.17 (Greig et al., 2000), where as that for diazinon is 3.81 (Nemeth-Konda et al., 2002). The difference in octanol-water partition coefficients suggests that differences in partitioning of these two agents between lipid and water phases may influence the rate of onset of the responses. This result in turn suggests that at least some portion the AChE pool associated with the behavioral response (e.g., increase in maximum accumulated swimming distance) and physiological response (ABR) may differ in anatomical location or have different enzyme inhibition thresholds.

An additional potential factor is the selectivity of physostigmine and diazinon as enzyme inhibitors. AChE inhibitors are often capable of inhibiting multiple esterases. For example, diazinon and physostigmine can inhibit both acetylcholinesterase and butyrylcholinesterase (Musilek et al., 2011; Taylor, 2011), and organophosphates are known to also affect neuropathy target esterase (NTE, Richardson et al., 2013). Although the genome of *Daphnia pulex* has been sequenced (e.g., see Coulbourne et al., 2011), and various esterases have been identified (McCoole, 2012a), the biological impact of inhibiting different esterases, particularly acetylcholinesterase, is still an ongoing field of inquiry in *Daphnia*.

Since animals like *Daphnia* live in the aquatic environment for their entire life cycle, exposure to chemical contaminants can occur over an entire life span. Contaminants like diazinon are also known to bioaccumulate in *Daphnia*, and this can lead to greater toxicity (Kretschmann et al. 2011; Nyman et al., 2014). Fernandez et al. (1994) found that exposure of *Daphnia magna* to lower concentrations of diazinon for 5 hours significantly inhibited filtration (μ l/animal/hour) and ingestion (cells/animal/hour) at concentrations of 0.47 μ g/l (~ 1.5 nM) and 0.60 μ g/l (~ 2nM), respectively. These findings taken together suggest that exposure to very low concentrations of diazinon for a sufficiently long enough time period can impair feeding in Daphnia, and therefore may impact the survival and fitness of this keystone species.

Fluoxetine

Daphnia are known to have a serotonergic neurotransmitter system. Homologs of the synthetic enzyme, tryptophan hydroxylase, serotonin transporters, and serotonin receptors have been identified in *Daphnia pulex* (McCoole et al., 2012b). Fluoxetine is a selective serotonin reuptake inhibitor and emerging contaminant. Fluoxetine was not found to have significant behavioral effects in this study except at relatively high concentrations. The 51µM concentration elicited a transitory stimulatory effect on swimming behavior expressed as an increase in maximum accumulated distance after two hours of exposure and this lasted for approximately four hours when maximum accumulated distance began to decline. The mean angle was elevated at the 24-hour time point. The 205µM concentration decreased maximum accumulated distance after two hours exposure and this was associated with an increase in mean angle. Both of these fluoxetine concentrations, 51 and 205µM resulted in 100% immobilization of the animals by the 24-hour time point. Given the relatively high concentrations of fluoxetine needed to elicit these behavioral effects, and without experiments conducted in the presence of a serotonin antagonist, it remains possible that the responses may be non-specific and not related to effects on the serotonergic system.

Although the observation of effects of swimming behavior resulting from fluoxetine exposure required high concentrations in the present study, there are a number of studies that have reported effects on *Daphnid* reproduction and life cycle. Compos et al. (2012) reported that exposure to the selective serotonin (5HT) reuptake inhibitors, fluoxetine (~30 nM–230 nM) and fluvoxamine (~7 nM-70 nM), increased *Daphnia magna* juvenile development rate, and increased clutch size and decreased the size of offspring. These effects could be reversed by a 5HT antagonist, indicating that they were likely produced by 5HT receptor stimulation resulting from transporter inhibition. These drugs also elicited changes in oxygen consumption (increased) and carbohydrate levels (decreased). Perry et al. (2008) found that exposure to 9 to 90 nM fluoxetine affected the length of newborn. *Daphnia magna*, with a larger effect on second generation animals relative to first generation. Since the behvioral results observed in the present study occurred at exposure levels that were aproximately an order of magnitude higher than the fluoxetine concentrations used by Compos (2012) and Perry (2008), it is possible that the more biologically

important role of 5HT in Daphnia is related to reproduction and regulation of life cycle rather than modulation of motor activity.

Chapter 4: Emerging Contaminants with unknown targets RESULTS

Triclocarban and Triclosan in COMBO

The effects of TCS and TCC exposure on distance are shown in Figure 18A and 18B. Since the concentration effect ($F_{1,18}=5.09$, P>0.50), the concentration x time interaction ($F_{9,162}=43.01$, P>0.50), and the concentration x chemical x time interaction ($F_{18, 162}$ =32.93, P>0.50) for accumulated distance were not significant, there was no significant difference found between the low and high concentrations (see Figure 18A). However, there was a significant time effect (F_{9} , $_{162}$ = 153.43, P< 0.005) and a significant time x chemical interaction (F_{18, 162}=128.06, P<0.005) indicating that there was a significant chemical effect on accumulated distance that was dependent on time (see Figure 18B). Contrast analysis comparing means at 70 to 90 minutes indicated that the accumulated distance for TCC and TCS were significantly lower than that of controls (P<0.05 in all cases). As shown in Figure 19A and 19B, a similar result was found for mean angle. The concentration effect ($F_{1,18} = 0.0$, P>0.5), concentration x time interaction ($F_{9,162}$ = 1.60, P>0.1), and concentration x chemical x time interaction ($F_{18, 162} = 1.10$, P>0.2) were not significant. There was a significant time effect ($F_{9,162} = 7.39, P \le 0.001$) and time x chemical interaction ($F_{18,192} = 3.09, P < 0.001$), again indicating a significant chemical effect on mean angle (see Figure 19B). Contrast analysis comparing means at 70 to 90 minutes indicated that the mean angle for TCC and TCS were significantly higher than that of controls (P<0.05 in all cases).



18B

18A

Figure18A: Effect of different concentrations of TCC and TCS over time on accumulated distance. **18B**: Time course for the effects of TCC and TCS on Accumulated distance.



19A



Figure19A: Effect of different concentrations of TCC and TCS over time on mean angle. **19B**: Time course for the effects of TCC and TCS on mean angle.

Triclocarban and Triclosan in EPA

Survival Analysis

The effects of TCC and TCS and their photo-degradative products(P.TCC and P.TCS) on Daphnid survival in EPA water over a 5-day period are shown in Figure 20A. A significant concentration x chemical interaction ($F_{18, 84} = 3.87$, P<0.001) indicated that the toxic effects on survival were dependent on both the type of chemical exposure and the concentration. LSD tests indicated that the survival due to TCC exposure was significantly lower than the other three chemicals at the highest concentration, $1\mu M$ (P<0.05 in all cases). At the second highest concentration, 0.1µM, survival due to TCC exposure was significantly lower than TCS and P.TCC (P<0.05 in both cases), but not significantly different from P.TCS. The effects of chemical exposure were also dependent on duration of exposure and concentration (concentration x time interaction, $F_{18, 252}=3.17$, P<0.001). The time- and concentration-dependent effects can be seen in Figure 20B. There was a progressive time-dependent decrease in survival over the duration of exposure (time effect, F_{3, 252}=141.43, P<0.001) with significant differences among all 4 days (LSD test, P<0.05 in all cases). The overall effect of chemical exposure as seen in Figure 20C, was dependent on the type of chemical exposure, duration of exposure, and concentration (chemical x time x concentration interaction, F_{54, 252}=2.11, P<0.001). TCC caused the greatest reduction in survival among the four chemical exposures since the chemical x time x concentration effect after eliminating TCC from the analysis was no longer significant (F_{36.189}=0.78, P>0.50).



Figure 20A: The concentration-dependent effects of four different chemical exposures on Daphnia pulex over a 5-day period **20B**: The time- and concentration-dependent effects of four different chemical exposures on Daphnia pulex over a 5-day period. **20C**: The overall effect of four different chemical exposures on Daphnia pulex over a 5-day period

Behavioral Analysis of TCC and TCS – both parent and photolyzed

The effects of TCC, TCS, P.TCC and P.TCS (on swimming behavior were examined over a 24-hour period using the optical tracking method. Figure 21 through 26 illustrate the results from these experiments.

The concentration-dependent effects of TCC and TCS are shown in Figure 21. There was not a significant overall concentration effect of the parent compounds on accumulated distance (21A: $F_{7,80}=0.40$, P>0.50) or on mean angle (21B: $F_{7,80}=0.54$, P>0.50). Similarly, when comparing the chemicals, TCC and TCS, the concentration x chemical effect was not found to be significant for accumulated distance (21C: $F_{7,80}=1.05$, P>0.20) or for mean angle (21D: $F_{7,80}=1.68$, P>0.10). The results for the concentration-dependent effects of the photodegradates are shown in Figure 22, and the outcome was similar to that obtained for the parent compounds. Neither the concentration-effect of the photodegradates (accumulated distance-22A: $F_{7,79}=0.30$, P>0.50; mean angle-22B: $F_{7,79} = 1.10$, P>0.20) nor the concentration x chemical effect of the photodegredates (accumulated distance-22C: $F_{7,79}=0.69$, P>0.50; mean angle - 22D: $F_{7,79} = 1.06$, P>0.20) were found to be significant for either dependent variable, accumulated distance or mean angle.



Figure 21: Concentration dependent effects of TCC and TCS. **21A**: Effects of TCC and TCS on accumulated distance. **21B**: Effects of TCC and TCS on mean angle. **21C**: Concentration x chemical effects on accumulated distance. **21D**: Concentration x chemical effect on mean angle.



Figure 22: Concentration dependent effects of photolyzed TCC and photolyzed TCS. **22A**: Effects of photolyzedTCC and photolyzed TCS on accumulated distance. **22B**: Effects of P.TCC and P.TCS on mean angle. **22C**: Concentration x chemical effects on accumulated distance. **22D**: Concentration x chemical effect on mean angle

Figure 23 illustrates the time-course for the effects of the various chemical treatments on accumulated distance and mean angle when ignoring concentration. There were no significant differences between any chemical treatments at time 0 (LSD test, P>0.50 in all cases). A significant chemical-effect on both accumulated distance ($F_{1.80}$ =14.47, P<0.001) and mean angle (F_{1.80}=12.16, P<0.001) was found when comparing TCC and TCS (see Figure 23A and 23B). A significant chemical-effect on both accumulated distance ($F_{1.79}=6.42$, P<0.05) and mean angle $(F_{1.79}=11.57, P<0.005)$ was also found when comparing the photodegradates (see Figure 23C and 23D). As described above, the concentration x chemical effect was not significant for any of the chemicals. The interaction between chemical and time was significant for mean angle for the photodegradates (F_{28, 2212}=4.14, P<0.001, see Figure 23D), but was not significant for any of the other chemical x time interactions (P>0.10 in all cases). The interaction between chemical, concentration, and time was significant for mean angle in the parent compounds ($F_{196,2240} = 1.19$, P<0.05), but was not significant for any of the other three-way interactions (P>0.05 in all other cases). Contrast analysis was used to examine the difference between the first four means and the difference between the last four means in each of the four plots (A-D) in Figure 23. Contrast analysis indicated significant differences (P<0.001) between parent compounds (A, B) and the photodegradates (C, D) in all cases except for the first four means of plots C and D (P>0.05 in both cases). Therefore, the chemical effect was the major significant effect observed, with more minor time- and concentration-dependent effects. As can be seen in time-course for the effects of parent compounds in 23A and 23B the mean values and standard errors for accumulated distance and angle over time are mostly separated. The major separation between the means and standard errors of the photodegradates occurs mostly after 300 minutes.



Figure 23: time-course for the effects of the various chemical treatments on accumulated distance and mean angle when ignoring concentration. 23A: time dependent effects of TCC and TCS on accumulated distance. 23B: time dependent effects of TCC and TCS on mean angle. 23C: time dependent effects of P.TCC and P.TCS on accumulated distance. 23D: time dependent effects of P.TCC and P.TCS on mean angle

Since there were no significant concentration main-effects observed, and one of the concentrations was zero (controls with no chemical treatment), the no-treatment controls were pooled from the two experiments (parent and photodegredates) to create a separate pooled control group. This control data was incorporated into a new analysis to compare parent compounds and photodegradates. Figure 24 illustrates the chemical effects over time with the controls as a separate line. As can be seen in Figure 24A and 24B, the no-treatment controls closely follow the TCS parent compound, and the time course for these two groups is mostly separated from the TCC parent compound group. For the photodegradates in Figure 24C and 25D, the no-treatment group follows a more intermediate position between the TCC photodegredates and the TCS photodegredates over time. Figure 25A and 25B illustrates the effects of the highest concentration of TCC on accumulated distance and on mean angle (25D) relative to the pooled controls.



Figure 24: the chemical effects over time with the controls as a separate line. 24A: effects of TCC and TCS on accumulated distance. 23B: effects of TCC and TCS on mean angle. 24C: effects of P.TCC and P.TCS on accumulated distance. 24D: effects of P.TCC and P.TCS on mean angle



25C

25D

Figure25A: effects of the 1 μ M TCC on accumulated distance. **25B**: effects of the 1 μ M TCC on mean angle. **25C**: effects of the 1 μ M TCS on accumulated distance. **25D**: effects of the 1 μ M TCS on mean angle

Figure 26 summarizes the effects of the various chemical treatments and the no-treatment control ignoring the concentration factor. There was a significant chemical effect for all chemical treatments (26A-D: P<0.05 in all cases). A post-hoc LSD test indicated that TCC was significantly different from control for both accumulated distance and mean angle (P<0.05 in both cases). This indicates that TCC significantly decreased accumulated distance and increased mean angle relative to control, inhibiting forward swimming behavior and increasing turning behavior (Figure 26A and 26B). TCS was not significantly different from control for either accumulated distance or mean angle (Figure 26C and 26D). For both accumulated distance and angle, the photodegradates were not significantly different from control (LSD, P>0.05). There was a non-significant trend towards an increase in mean angle of P.TCC relative to control (P~ 0.073). The two photodegradates were significantly different from each other (LSD, P<0.05 in both cases).



26C

26D

Figure26: the effects of the various chemical treatments and the no-treatment control ignoring the concentration factor. **26A**: effects of TCC and TCS on accumulated distance. **26B**: effects of TCC and TCS on mean angle. **26C**: effects of P-TCC and P-TCS on accumulated distance. **26D**: effects of P-TCC and P-TCS on mean angle

DISCUSSION Triclocarban, Tricloan and photodegredates

Triclosan (TCS) and triclocarban (TCC) are halogenated aromatic hydrocarbons used in many antimicrobial products (e.g., soaps, detergents, toothpaste, plastics, etc.; Halden, 2014). These compounds have broad antimicrobial activity with multiple antimicrobial targets, and can be classified as bacteriostatic or as biocides depending on concentration (Russel, 2004; Escalada et al., 2005; Ahn et al., 2008; Dann and Hontela, 2011). As emerging contaminants, which are found extensively in surface waters and are known to bioaccumulate, these agents are receiving increasing scrutiny for their potential toxicity to wildlife and humans (Ahn et al, 2008; Dan and Hontela, 2011; Halden, 2014). Both TCS and TCC are also known to produce stable, but incompletely characterized photodegredates in the environment upon exposure to UV light (e.g., see Halden, 2014). Although toxicity to some aquatic life has been evaluated, to the best of our knowledge there have been no reports on behavioral effects of these agents in *Daphnia*.

Our preliminary behavioral study conducted in COMBO media compared the toxicity of TCC and TCS at two concentrations, 0.1μ M and 10μ M, over a 90-minute period of exposure. Evidence of acute toxicity was obtained in the swimming assay, indicating that both compounds caused a significant decrease in maximal accumulated distance and a significant increase in mean angle. These behavioral effects were not found to be concentration-dependent, suggesting that the two concentrations were equally toxic.

A more extensive concentration range that included UV-photodegradates of both TCC and TCS (provided by the laboratory of Yu-Ping Chin at Ohio State University), from 0.01nM to 1μ M, was examined in the 5-day survival analysis study. This survival analysis used a standardized medium formulated by the EPA (http://water.epa.gov/scitech/methods/cwa/wet/upload/2007_07_10_methods_wet_disk2_atx710.pdf). A significant time-and concentration-dependent decrease in survival was found that was also dependent on the specific type of chemical exposure. After 24-hours of exposure both TCC and P-TCS exhibited significant decreases in survival that progressively decreased over subsequent days of exposure. The highest 1 μ M concentration of TCC killed all animals within 24-hours of exposure. By the second day of exposure there was a significant decrease in survival of animals exposed to 0.1 μ M TCC. On the second day of exposure there was a significant decrease in survival decrease in the survival of animals exposed to TCS at the 10 nM concentration, and on the third and fourth day all of the concentrations from 1 nM to 1 μ M showed a significant decrease in survival. On the second day of exposure there was a significant decrease in survival for the P-TCC exposed animals at 10 nM. On the first day of exposure there was a significant decrease in survival for the P-TCS group at 0.1 and 1 μ M. By the fourth day survival was significantly decreased at 0.1 nM and 10 nM for P-TCS. These results indicate that TCC, TCS, P-TCC, and P-TCS exhibit significant toxicity at in the low nanomolar range.

Tamura et al., (2013) compared the toxicity of TCC, TCS, and other potential contaminants across three different aquatic organisms, green algae (*Pseudokirchneriella subcapitata*), *Daphnia magna*, and fish (*Oryzias latipes*). They calculated an EC₅₀ for algae growth inhibition (72 hour exposure), an EC₅₀ for Daphnia immobility (48 hour exposure), and an LC₅₀ for fish (96 hour exposure). For TCC the rank order calculations for toxicity were: Daphnia (30nM) < green algae (90 nM) < fish (270 nM). For TCS the rank order calculations for toxicity were: of chemical exposure, with fish generally being the least sensitive. In the first 24 hours of exposure for our survival experiment TCC also was more toxic than TCS. However, TCS

toxicity increased over time with a maximum effect on survival at 96 hours. In addition, the photolyzed TCC and photolyzed TCS exhibited significant toxicity at low nM concentrations.

A re-examination of the behavioral toxicity of TCC, TCS, P-TCC, and P-TCC in EPA medium covered the same concentration range as utilized in the survival analysis (0.01nM to When the entire 24-hour time course was evaluated there were no significant 1μ M). concentration-dependent effects of any of the types of chemical treatments on swimming behavior. However, when the two parent compounds were compared there was a significant difference between TCC and TCS on both maximum accumulated distance and mean angle. When compared to pooled controls, it became apparent that TCC elicited the major behavioral effects relative to TCS, with a decrease in maximum accumulated distance and an increase in mean angle. These results would be consistent with that observed after the first day of exposure in the survival analysis. The outcome of the experiment comparing P-TCC and P-TCS is less clear since both treatments had mean values near the pooled controls for maximum accumulated distance, and some divergence from pooled controls at 24-hours with P-TCC higher and P-TCS lower than controls for mean angle. With the reduction in mean values for the P-TCS exposed animals after 24-hours of exposure in the survival experiment, an increase in mean angle might have been expected rather than a decrease in mean angle, but the effect on survival was not large at 24-hours and became larger with several more days of exposure.

The overall evaluation of TCC, TCS, and photolyzed compounds indicates that these are relatively toxic agents, which can affect survival in the nanomolar range. The 24-hour behavioral analysis was able to detect the effect of the highest 1 μ M concentration of TCC that occurred within 24-hours, but the limitation in the evaluation of effects over time (24 hours), meant that later developing toxic effects on behavior could not be evaluated. The low concentrations

observed indicate that there should be concern about the environmental impact of TCC, TCS, P-TCC and P-TCS given there ubiquitous presence in water ways near urban areas with significant human populations.

CONCLUSION

In the study of contaminants with known biological targets, significant differences between behavioral and physiological response profiles for two different anticholinesterase agents were observed. One agent, physostigmine, that is rarely used therapeutically as a drug, and another agent, diazinon, which is an insecticide with a similar mode of action, exhibited a different time-course for their actions. The results with the anticholinesterase agents suggest that a more thorough analysis including other inhibitors commonly found as contaminants of emerging concern (e.g., chlorpyrifos) might provide new understanding of toxicokinetic factors that affect toxicity. A more complete understanding of toxicokinetic factors may enable better estimation of environmental risks. In addition the behavioral responses elicited by diazinon occurred at relatively low concentrations. In particular, the stimulatory effect of 0.125 nM diazinon on *Daphnid* swimming behavior may impact survival or fitness, and likely occurs at an environmentally relevant concentration.

The second phase of the study focused on contaminants of emerging concern with unknown biological targets. Triclosan and triclocarban are antibiotics commonly found in commercially available products, such as soap and toothpaste, and are now found in many waterways. These agents are known to be transformed into new and incompletely characterized chemicals. Experimental results obtained demonstrated that the parent compounds and the photolyzed compounds affected Daphnid survival at low environmentally relevant concentrations. The swimming assay was able to detect some early behavioral effects that may be useful indicators for the potential of some chemicals to affect fitness or survival. The mechanism for these toxic effects Daphnia remains be determined. on to

The advancement in technology and new analytical methods has enabled the detection of very low concentrations of chemical contaminants in the environment. More traditional toxicity

62

tests, such as LC_{50} test to estimate lethality have often focused on single contaminants and miss sub-lethal effects that may be expressed as changes in behavior. The potential risk from exposure to the contaminants of emerging concern must also address the issue of complex mixtures rather than being simply focused on single chemical agents. Since exposure may often involve complex mixtures rather than single chemical agents a more complete assessment of the impact of mixtures will be an ongoing challenge if we are to protect aquatic flora and fauna as well as human health.
APPENDIX A

	Physostigmine: ANOVA with repeated measure(Time) Dependent variable = Accumulated distance					
Effect	SS	Degr. of Freedom	F	р		
Intercept	955568.7	1	955568.7	1110.341	0.000000	
Concentration	29951.0	5	5990.2	6.960	0.000011	
Error	92945.7	108	860.6			
	0004.0	~~	000 0	0.005	0.00000	
	Dependent v	ne: ANOVA /ariable = Me	an angle	a measure(11	me)	
Effect	SS	Degr. of Freedom	MS	F	р	
Intercept	11181249	1	11181249	2419.464	0.000000	
Concentration	38391	5	7678	1.661	0.150114	
Error	499109	108	4621			
	Diazinon: Al Dependent v	NOVA with re variable = Ac	epeated mea cumulated d	sure(Time) istance		
Effect	SS	Degr. of Freedom	MS	F	р	
Intercept	256516.3	1	256516.3	761.2355	0.000000	
Concentration	6932.3	7	990.3	2.9389	0.009865	
Error	21566.3	64	337.0			
TIME	15805.0	23	687.2	12.7666	0.000000	
TIME*concentration	15465.7	161	96.1	1.7846	0.000000	
Error	79231.7	1472	53.8			

	Diazinon: ANOVA with repeated measure(Time) Dependent variable = Mean angle							
	SS	Degr. of	MS	F	р			
Effect		Freedom						
Intercept	9767199	1	9767199	1960.265	0.000000			
Concentration	171040	7	24434	4.904	0.000178			
Error	318886	64	4983					
TIME	164454	23	7150	14.559	0.000000			
TIME*Concentration	194432	161	1208	2.459	0.000000			
Error	722906	1472	491					

	Diazinon: ANOVA with repeated measure(Time) Dependent variable = Accumulated distance_120 to 1440 minutes								
	SS	Degr. of	MS	F	р				
Effect		Freedom							
Intercept	105160.4	1	105160.4	491.7294	0.000000				
Concentration	11182.9	7	1597.6	7.4702	0.000001				
Error	13686.9	64	213.9						
TIME	1224.7	11	111.3	2.2037	0.012799				
TIME*concentration	5341.2	77	69.4	1.3730	0.023198				
Error	35567.0	704	50.5						

	Diazinon Physiology: ANOVA with repeated measure(Time) Parameters = HR, ABR							
Effort	SS	Degr. of Freedom	MS	F	р			
Intercept	21326834	1	21326834	265.8946	0.000003			
Concentration	22698	2	11349	0.1415	0.870872			
Error	481247	6	80208					
Parameter	512568	1	512568	11.9403	0.013542			
Parameter*Concentration	57842	2	28921	0.6737	0.544564			
Error	257567	6	42928					
TIME	283037	21	13478	6.2048	0.000000			
TIME*Concentration	241555	42	5751	2.6477	0.000016			
Error	273694	126	2172					
Parameter*TIME	288466	21	13736	8.9704	0.000000			
Parameter*TIME*Concentration	232927	42	5546	3.6216	0.000000			
Error	192947	126	1531					

	Fluoxetine: ANOVA with repeated measure(Time) Dependent variable = Accumulated distance							
	SS	Degr. of	MS	F	р			
Effect		Freedom						
Intercept	207941.0	1	207941.0	383.5964	0.000000			
concentration	2492.9	7	356.1	0.6570	0.707251			
Error	34693.3	64	542.1					
TIME	2497.4	23	108.6	2.1975	0.000908			
TIME*concentration	11319.5	161	70.3	1.4229	0.000738			
Error	72734.8	1472	49.4					

	Fluoxetine: ANOVA with repeated measure(Time)								
	Dependent variable = Mean angle								
	SS	Degr. of	MS	F	р				
Effect		Freedom							
Intercept	10268045	1	10268045	1539.379	0.000000				
concentration	84384	7	12055	1.807	0.101111				
Error	426896	64	6670						
TIME	57357	23	2494	5.344	0.000000				
TIME*concentration	139352	161	866	1.855	0.000000				
Error	686888	1472	467						

	Parent Triclocarban and Triclosan in COMBO: ANOVA with re Dependent variable = Accumulated distance						
	SS	Degr.	of	MS	F		
Effect		Freed	bm				
Intercept	25542.40		1	25542.40	325.0469		
Concentration	5.09		1	5.09	0.0648		
Chemical	391.75		2	195.87	2.4926		
Concentration*Chemical	20.09		2	10.04	0.1278		
Error	1414.45		18	78.58			
TIME	1380.86		9	153.43	2.8030		
TIME*Concentration	387.06		9	43.01	0.7857		
TIME*Chemical	2305.10		18	128.06	2.3396		
TIME*Concentration*Chemical	592.72		18	32.93	0.6016		
Error	8867.37		162	54.74			

	Parent Triclocarban and Triclosan in COMBO: ANOVA with re Dependent variable = Mean Angle					
	SS	Degr. of	MS	F	р	
Effect		Freedom				
Intercept	1540369	1	1540369	1414.026	0.000000	
Concentration	0	1	0	0.000	0.995802	
Chemical	10631	2	5315	4.880	0.020268	
concentration*Chemical	2476	2	1238	1.136	0.342931	
Error	19608	18	1089			
TIME	40351	g	4483	7.396	0.000000	
TIME*Concentration	8742	9	971	1.602	0.118512	
TIME*Chemical	33797	18	1878	3.097	0.000070	
TIME*concentration*Chemical	12055	18	670	1.105	0.352036	
Error	98210	162	606			

	Parent & Photolyzed Triclocarban and Triclosan(survival data): ANOVA with repeated measure(Days) Dependent Variable = Survival(number of animnals							
	SS	Degr. of	MS	F	р			
Effect		Freedom						
Intercept	6032.893	1	6032.893	1720.757	0.000000			
Concentration	227.513	6	37.919	10.816	0.000000			
Chemical	11.036	3	3.679	1.049	0.375210			
Concentration*Chemical	244.058	18	13.559	3.867	0.000012			
Error	294.500	84	3.506					
DAYS	148.161	3	49.387	141.426	0.000000			
DAYS*Concentration	19.933	18	1.107	3.171	0.000026			
DAYS*Chemical	7.982 9 0.887 2.540 0.00832							
DAYS*Concentration*Chemical	39.924	54	0.739	2.117	0.000058			
Error	88.000	252	0.349					

	Parent Triclocarban and Triclosan: ANOVA with repeated meas Dependent variable = Accumulated distance						
	SS	Degr. of	MS	F	р		
Effect		Freedom					
Intercept	294660.5		294660.5	602.7290	0.000000		
Concentration	1362.3	-	194.6	0.3981	0.900815		
Chemical	7074.2	-	7074.2	14.4703	0.000277		
Concentration*Chemical	3586.1	-	512.3	1.0479	0.404923		
Error	39110.2	80	488.9				
TIME	3456.9	28	123.5	2.7927	0.000002		
TIME*Concentration	9952.2	196	50.8	1.1486	0.085416		
TIME*Chemical	1093.6	28	39.1	0.8835	0.641706		
TIME*Concentration*Chemical	9699.6	196	49.5	1.1194	0.132019		
Error	99027.9	2240	44.2				

	Parent Triclocarban and Triclosan: ANOVA with repeated meas Dependent variable = Mean Angle						
	SS	Degr. of	MS	F	р		
Effect		Freedom					
Intercept	18308716	1	18308716	2821.808	0.000000		
Concentration	24490	7	3499	0.539	0.802282		
Chemical	78879	1	78879	12.157	0.000797		
Concentration*Chemical	76403	7	10915	1.682	0.125184		
Error	519063	80	6488				
TIME	36915	28	1318	2.879	0.000001		
TIME*Concentration	108012	196	551	1.203	0.033533		
TIME*Drug chemical	16095	28	575	1.255	0.167804		
TIME*Concentration*Chemical	106957	196	546	1.191	0.041525		
Error	1025926	2240	458				

	Photolyzed Dependent v	Photolyzed Triclocarban and Triclosan: ANOVA with repeated r Dependent variable = Accumulated distance							
	SS	Degr. of	MS	F	р				
Effect		Freedom							
Intercept	428414.2	1	428414.2	691.5678	0.000000				
concentration	3010.2	7	430.0	0.6942	0.676702				
chemical	3980.2	1	3980.2	6.4251	0.013227				
concentration*chemical	1299.3	7	185.6	0.2996	0.952006				
Error	48939.1	79	619.5						
TIME	11078.3	28	395.7	6.3309	0.000000				
TIME*concentration	12375.9	196	63.1	1.0103	0.449406				
TIME*chemical	1854.2	28	66.2	1.0596	0.380371				
TIME*concentration*chemical	12803.2	196	65.3	1.0452	0.325785				
Error	138240.5	2212	62.5						

	Photolyzed Triclocarban and Triclosan: ANOVA with repeated r Dependent variable = Mean Angle					
	SS Degr. of MS F					
Effect		Freedom				
Intercept	14509824	1	14509824	2748.306	0.000000	
concentration	40838	7	5834	1.105	0.368328	
chemical	61080	1	61080	11.569	0.001055	
concentration*chemical	38996	7	5571	1.055	0.400250	
Error	417085	79	5280			
TIME	188631	28	6737	11.306	0.000000	
TIME*concentration	135512	196	691	1.160	0.070840	
TIME*chemical	69098	28	2468	4.142	0.000000	
TIME*concentration*chemical	137807	196	703	1.180	0.050920	
Error	1318010	2212	596			

	Parent Triclocarban and Triclosan(pooled control): ANOVA with repeated meas Dependent variable = Accumulated distance					
	SS	Degr	of	MS	F	р
Effect		Freed	om			
Intercept	351809.6		1	351809.6	755.1304	0.000000
chemical	10673.8		2	5336.9	11.4552	0.000032
Error	48918.7		105	465.9		
TIME	5259.6		28	187.8	3.9750	0.000000
TIME*chemical	3390.4		56	60.5	1.2812	0.078932
Error	138931.1		2940	47.3		

	Parent Triclocarban and Triclosan(pooled control): ANOVA with repeated meas Dependent variable = Mean Angle									
	SS	SS Degr. of MS F p								
Effect		Freedom								
Intercept	17958837	1	17958837	2825.548	0.000000					
chemical	137044	2	68522	10.781	0.000055					
Error	667367	105	6356							
TIME	63250	28	2259	4.659	0.000000					
TIME*chemical	40084	56	716	1.476	0.012653					
Error	1425331	2940	485							

	Photolyzed Triclocarban and Triclosan(pooled control): ANOVA with repeated n Dependent variable = Accumulated distance					
	SS	Degr	of	MS	F	р
Effect		Freed	om			<i>.</i>
Intercept	435325.9		1	435325.9	800.6472	0.000000
chemical	3697.8		2	1848.9	3.4005	0.037107
Error	56546.6		104	543.7		
TIME	11048.1		28	394.6	6.4072	0.000000
TIME*chemical	2895.4		56	51.7	0.8396	0.796489
Error	179328.7		2912	61.6		

	Photolyzed Triclocarban and Triclosan(pooled control): ANOVA with repeated n Dependent variable = Mean Angle					
	SS	Degr.	of	MS	F	р
Effect		Freed	þm			
Intercept	15624897		1	15624897	3033.883	0.000000
chemical	63026		2	31513	6.119	0.003074
Error	535614		104	5150		
TIME	166020		28	5929	9.888	0.000000
TIME*chemical	84950		56	1517	2.530	0.000000
Error	1746200		2912	600		

REFERENCES

- Agopian, A. J., P. J. Lupo, M. A. Canfield and P. H. Langlois. "Case-Control Study of Maternal Residential Atrazine Exposure and Male Genital Malformations." *Am J Med Genet A* 161A, no. 5 (2013): 977-82.
- Ahn, K. C., B. Zhao, J. Chen, G. Cherednichenko, E. Sanmarti, M. S. Denison, B. Lasley, I. N. Pessah, D.
 Kultz, D. P. Chang, S. J. Gee and B. D. Hammock. "In Vitro Biologic Activities of the Antimicrobials
 Triclocarban, Its Analogs, and Triclosan in Bioassay Screens: Receptor-Based Bioassay Screens."
 Environ Health Perspect 116, no. 9 (2008): 1203-10.
- Altshuler, I., B. Demiri, S. Xu, A. Constantin, N. D. Yan and M. E. Cristescu. "An Integrated Multi-Disciplinary Approach for Studying Multiple Stressors in Freshwater Ecosystems: Daphnia as a Model Organism." *Integr Comp Biol* 51, no. 4 (2011): 623-33.
- Baylor, E.R. "Cardiac Pharmacology of the Cladoceran, Daphnia." *The Biological Bulletin*, (1942): 165-172.
- Brausch, John M. and Gary M. Rand. "A Review of Personal Care Products in the Aquatic Environment: Environmental Concentrations and Toxicity." *Chemosphere* 82, no. 11 (2011): 1518-1532.
- Brodin, T., J. Fick, M. Jonsson and J. Klaminder. "Dilute Concentrations of a Psychiatric Drug Alter Behavior of Fish from Natural Populations." *Science* 339, no. 6121 (2013): 814-5.
- Brooks, Bryan W., Christy M. Foran, Sean M. Richards, James Weston, Philip K. Turner, Jacob K. Stanley, Keith R. Solomon, Marc Slattery and Thomas W. La Point. "Aquatic Ecotoxicology of Fluoxetine." *Toxicology Letters* 142, no. 3 (2003): 169-183.

- Brooks, Bryan W., Philip K. Turner, Jacob K. Stanley, James J. Weston, Elizabeth A. Glidewell, Christy M.
 Foran, Marc Slattery, Thomas W. La Point and Duane B. Huggett. "Waterborne and Sediment
 Toxicity of Fluoxetine to Select Organisms." *Chemosphere* 52, no. 1 (2003): 135-142.
- Campos, B., B. Pina and C. C. Barata. "Mechanisms of Action of Selective Serotonin Reuptake Inhibitors in Daphnia Magna." *Environ Sci Technol* 46, no. 5 (2012): 2943-50.

Carpenter, S. R., J. F. Kitchell, J. R. Hodgson, P. A. Cochran, J. J. Elser, M. M. Elser, D. M. Lodge, D. Kretchmer, X. He and C. N. Vonende. "Regulation of Lake Primary Productivity by Food Web Structure." *Ecology* 68, no. 6 (1987): 1863-1876.

- Colbourne, J. K., M. E. Pfrender, D. Gilbert, W. K. Thomas, A. Tucker, T. H. Oakley, S. Tokishita, A. Aerts,
 G. J. Arnold, M. K. Basu, D. J. Bauer, C. E. Caceres, L. Carmel, C. Casola, J. H. Choi, J. C. Detter, Q.
 Dong, S. Dusheyko, B. D. Eads, T. Frohlich, K. A. Geiler-Samerotte, D. Gerlach, P. Hatcher, S.
 Jogdeo, J. Krijgsveld, E. V. Kriventseva, D. Kultz, C. Laforsch, E. Lindquist, J. Lopez, J. R. Manak, J.
 Muller, J. Pangilinan, R. P. Patwardhan, S. Pitluck, E. J. Pritham, A. Rechtsteiner, M. Rho, I. B.
 Rogozin, O. Sakarya, A. Salamov, S. Schaack, H. Shapiro, Y. Shiga, C. Skalitzky, Z. Smith, A.
 Souvorov, W. Sung, Z. Tang, D. Tsuchiya, H. Tu, H. Vos, M. Wang, Y. I. Wolf, H. Yamagata, T.
 Yamada, Y. Ye, J. R. Shaw, J. Andrews, T. J. Crease, H. Tang, S. M. Lucas, H. M. Robertson, P. Bork,
 E. V. Koonin, E. M. Zdobnov, I. V. Grigoriev, M. Lynch and J. L. Boore. "The Ecoresponsive
 Genome of Daphnia Pulex." *Science* 331, no. 6017 (2011): 555-61.
- Coors, A., M. Hammers-Wirtz and H. T. Ratte. "Adaptation to Environmental Stress in Daphnia Magna Simultaneously Exposed to a Xenobiotic." *Chemosphere* 56, no. 4 (2004): 395-404.
- Dann, A. B. and A. Hontela. "Triclosan: Environmental Exposure, Toxicity and Mechanisms of Action." *J Appl Toxicol* 31, no. 4 (2011): 285-311.

Daughton, C. G. and T. A. Ternes. "Pharmaceuticals and Personal Care Products in the Environment: Agents of Subtle Change?" *Environ Health Perspect* 107 Suppl 6, (1999): 907-38.

Desbrow, C., G.C. Routledge, J. P. Sumpter and M. Waldock. "Identification of Estrogenic

Chemicals in Stw Effluent. 1.

- Chemical Fractionation and in Vitro Biological Screening." *Environmental Science & Technology* 32, no. 11 (1998): 1550-1558.
- Dirzo, R., H. S. Young, M. Galetti, G. Ceballos, N. J. Isaac and B. Collen. "Defaunation in the Anthropocene." *Science* 345, no. 6195 (2014): 401-6.
- Dodson, S. I. and T. Hanazato. "Commentary on Effects of Anthropogenic and Natural Organic Chemicals on Development, Swimming Behavior, and Reproduction of Daphnia, a Key Member of Aquatic Ecosystems." *Environ Health Perspect* 103 Suppl 4, (1995): 7-11.
- Ela, W. P., D. L. Sedlak, M. A. Barlaz, H. F. Henry, D. C. Muir, D. L. Swackhamer, E. J. Weber, R. G. Arnold,
 P. L. Ferguson, J. A. Field, E. T. Furlong, J. P. Giesy, R. U. Halden, T. Henry, R. A. Hites, K. C.
 Hornbuckle, P. H. Howard, R. G. Luthy, A. K. Meyer, A. E. Saez, F. S. Vom Saal, C. D. Vulpe and M.
 R. Wiesner. "Toward Identifying the Next Generation of Superfund and Hazardous Waste Site
 Contaminants." *Environ Health Perspect* 119, no. 1 (2011): 6-10.
- Escalada, M. G., A. D. Russell, J. Y. Maillard and D. Ochs. "Triclosan-Bacteria Interactions: Single or Multiple Target Sites?" *Lett Appl Microbiol* 41, no. 6 (2005): 476-81.
- Fernandez-Casalderrey, A., M. D. Ferrando and E. Andreu-Moliner. "Effect of Sublethal Concentrations of Pesticides on the Feeding Behavior of Daphnia Magna." *Ecotoxicol Environ Saf* 27, no. 1 (1994): 82-9.
- Flaherty, C. M. and S. I. Dodson. "Effects of Pharmaceuticals on Daphnia Survival, Growth, and Reproduction." *Chemosphere* 61, no. 2 (2005): 200-7.

- Fong, T. T., L. S. Mansfield, D. L. Wilson, D. J. Schwab, S. L. Molloy and J. B. Rose. "Massive Microbiological Groundwater Contamination Associated with a Waterborne Outbreak in Lake Erie, South Bass Island, Ohio." *Environ Health Perspect* 115, no. 6 (2007): 856-64.
- Greig, N. H., E. De Micheli, H. W. Holloway, Q. S. Yu, T. Utsuki, T. A. Perry, A. Brossi, D. K. Ingram, J.
 Deutsch, D. K. Lahiri and T. T. Soncrant. "The Experimental Alzheimer Drug Phenserine:
 Preclinical Pharmacokinetics and Pharmacodynamics." *Acta Neurol Scand Suppl* 176, (2000): 74-84.
- Halden, R. U. "On the Need and Speed of Regulating Triclosan and Triclocarban in the United States." *Environ Sci Technol* 48, no. 7 (2014): 3603-11.
- Halden, RU and DH Paull. "Co-Occurrence of Triclocarban and Triclosan in Us Water Resources." *Environmental Science & Technology* 39, no. 6 (2005): 1420-1426.
- Hayes, T. B., L. L. Anderson, V. R. Beasley, S. R. de Solla, T. Iguchi, H. Ingraham, P. Kestemont, J.
 Kniewald, Z. Kniewald, V. S. Langlois, E. H. Luque, K. A. McCoy, M. Munoz-de-Toro, T. Oka, C. A.
 Oliveira, F. Orton, S. Ruby, M. Suzawa, L. E. Tavera-Mendoza, V. L. Trudeau, A. B. Victor-Costa
 and E. Willingham. "Demasculinization and Feminization of Male Gonads by Atrazine: Consistent
 Effects across Vertebrate Classes." *J Steroid Biochem Mol Biol* 127, no. 1-2 (2011): 64-73.
- Hayes, T. B., V. Khoury, A. Narayan, M. Nazir, A. Park, T. Brown, L. Adame, E. Chan, D. Buchholz, T.
 Stueve and S. Gallipeau. "Atrazine Induces Complete Feminization and Chemical Castration in
 Male African Clawed Frogs (Xenopus Laevis)." *Proc Natl Acad Sci U S A* 107, no. 10 (2010): 4612-7.
- Hogenboom, A. C., J. A. van Leerdam and P. de Voogt. "Accurate Mass Screening and Identification of Emerging Contaminants in Environmental Samples by Liquid Chromatography-Hybrid Linear Ion Trap Orbitrap Mass Spectrometry." *Journal of Chromatography A* 1216, no. 3 (2009): 510-9.

- Hutchinson, T. H., B. P. Lyons, J. E. Thain and R. J. Law. "Evaluating Legacy Contaminants and Emerging Chemicals in Marine Environments Using Adverse Outcome Pathways and Biological Effects-Directed Analysis." *Marine Pollution Bulletin* 74, no. 2 (2013): 517-25.
- Jeziorski, A., A. J. Tanentzap, N. D. Yan, A. M. Paterson, M. E. Palmer, J. B. Korosi, J. A. Rusak, M. T. Arts,
 W. B. Keller, R. Ingram, A. Cairns and J. P. Smol. "The Jellification of North Temperate Lakes." *Proc Biol Sci* 282, no. 1798 (2015): 20142449.
- Kavanagh, Richard J., Gordon C. Balch, Yiannis Kiparissis, Arthur J. Niimi, Jim Sherry, Cheryl Tinson and Chris D. Metcalfe. "Endocrine Disruption and Altered Gonadal Development in White Perch (Morone Americana) from the Lower Great Lakes Region." *Environmental Health Perspectives* 112, no. 8 (2004): 898-902.
- Kock-Schulmeyer, M., M. Villagrasa, M. Lopez de Alda, R. Cespedes-Sanchez, F. Ventura and D. Barcelo. "Occurrence and Behavior of Pesticides in Wastewater Treatment Plants and Their Environmental Impact." *Sci Total Environ* 458-460, (2013): 466-76.
- Kretschmann, A., R. Ashauer, K. Hitzfeld, P. Spaak, J. Hollender and B. I. Escher. "Mechanistic Toxicodynamic Model for Receptor-Mediated Toxicity of Diazoxon, the Active Metabolite of Diazinon, in Daphnia Magna." *Environ Sci Technol* 45, no. 11 (2011): 4980-7.
- Kretschmann, A., R. Ashauer, T. G. Preuss, P. Spaak, B. I. Escher and J. Hollender. "Toxicokinetic Model
 Describing Bioconcentration and Biotransformation of Diazinon in Daphnia Magna." *Environ Sci Technol* 45, no. 11 (2011): 4995-5002.
- Kummerer, K. "The Presence of Pharmaceuticals in the Environment Due to Human Use Present Knowledge and Future Challenges." *Journal of Environmental Management* 90, no. 8 (2009): 2354-2366.

- Lake, I. R., L. Hooper, A. Abdelhamid, G. Bentham, A. B. Boxall, A. Draper, S. Fairweather-Tait, M. Hulme,
 P. R. Hunter, G. Nichols and K. W. Waldron. "Climate Change and Food Security: Health Impacts in Developed Countries." *Environ Health Perspect* 120, no. 11 (2012): 1520-6.
- Lewis, Simon L. and Mark A. Maslin. "Defining the Anthropocene." *Nature* 519, no. 7542 (2015): 171-180.
- McCoole, M. D., N. J. Atkinson, D. I. Graham, E. B. Grasser, A. L. Joselow, N. M. McCall, A. M. Welker, E. J.
 Wilsterman, K. N. Baer, A. R. Tilden and A. E. Christie. "Genomic Analyses of Aminergic Signaling
 Systems (Dopamine, Octopamine and Serotonin) in Daphnia Pulex." *Comparative Biochemistry* and Physiology D-Genomics & Proteomics 7, no. 1 (2012): 35-58.
- McCoole, M. D., B. T. D'Andrea, K. N. Baer and A. E. Christie. "Genomic Analyses of Gas (Nitric Oxide and Carbon Monoxide) and Small Molecule Transmitter (Acetylcholine, Glutamate and Gaba)
 Signaling Systems in Daphnia Pulex." *Comparative Biochemistry and Physiology D-Genomics & Proteomics* 7, no. 2 (2012): 124-160.
- Mennigen, J. A., P. Stroud, J. M. Zamora, T. W. Moon and V. L. Trudeau. "Pharmaceuticals as Neuroendocrine Disruptors: Lessons Learned from Fish on Prozac." *J Toxicol Environ Health B Crit Rev* 14, no. 5-7 (2011): 387-412.
- Mkandawire, M. "Biogeochemical Behaviour and Bioremediation of Uranium in Waters of Abandoned Mines." *Environ Sci Pollut Res Int* 20, no. 11 (2013): 7740-67.
- Musilek, K., M. Dolezal, F. Gunn-Moore and K. Kuca. "Design, Evaluation and Structure-Activity Relationship Studies of the Ache Reactivators against Organophosphorus Pesticides." *Med Res Rev* 31, no. 4 (2011): 548-75.

Nemeth-Konda, L., Gy. Fuleky, Gy. Morovjan and P. Csokan. "Sorption Behaviour of Acetochlor, Atrazine, Carbendazim, Diazinon, Imidacloprid and Isoproturon on Hungarian Agricultural Soil." *Chemosphere* 48, (2002): 545-552.

- Noyes, P. D., M. K. McElwee, H. D. Miller, B. W. Clark, L. A. Van Tiem, K. C. Walcott, K. N. Erwin and E. D. Levin. "The Toxicology of Climate Change: Environmental Contaminants in a Warming World." *Environ Int* 35, no. 6 (2009): 971-86.
- Nyman, A. M., K. Schirmer and R. Ashauer. "Importance of Toxicokinetics for Interspecies Variation in Sensitivity to Chemicals." *Environ Sci Technol*, (2014).
- Pavlaki, M. D., R. Pereira, S. Loureiro and A. M. V. M. Soares. "Effects of Binary Mixtures on the Life Traits of Daphnia Magna." *Ecotoxicology and Environmental Safety* 74, no. 1 (2011): 99-110.
- Peng, Y., Y. Luo, X. P. Nie, W. Liao, Y. F. Yang and G. G. Ying. "Toxic Effects of Triclosan on the Detoxification System and Breeding of Daphnia Magna." *Ecotoxicology* 22, no. 9 (2013): 1384-1394.
- Perencevich, E. N., M. T. Wong and A. D. Harris. "National and Regional Assessment of the Antibacterial Soap Market: A Step toward Determining the Impact of Prevalent Antibacterial Soaps."
 American Journal of Infection Control 29, no. 5 (2001): 281-283.
- Pery, A. R., M. Gust, B. Vollat, R. Mons, M. Ramil, G. Fink, T. Ternes and J. Garric. "Fluoxetine Effects Assessment on the Life Cycle of Aquatic Invertebrates." *Chemosphere* 73, no. 3 (2008): 300-4.
- Rauh, V. A., F. P. Perera, M. K. Horton, R. M. Whyatt, R. Bansal, X. Hao, J. Liu, D. B. Barr, T. A. Slotkin and
 B. S. Peterson. "Brain Anomalies in Children Exposed Prenatally to a Common Organophosphate
 Pesticide." *Proc Natl Acad Sci U S A* 109, no. 20 (2012): 7871-6.
- Richardson, R. J., N. D. Hein, S. J. Wijeyesakere, J. K. Fink and G. F. Makhaeva. "Neuropathy Target Esterase (Nte): Overview and Future." *Chem Biol Interact* 203, no. 1 (2013): 238-44.

Routledge, G.C., D. Sheahan, C. Desbrow, M. Brightly, M. Waldock and J. P. Sumpter. "Identification of Estrogenic Chemicals in Stw Effluent. 2. In

Vivo Responses in Trout and Roach." *Environmental Science & Technology* 32, no. 11 (1998): 1559-1565. Russell, A. D. "Whither Triclosan?" *J Antimicrob Chemother* 53, no. 5 (2004): 693-5.

- Shaw, Joseph R., Michael E. Pfrender, Brian D. Eads, Rebecca Klaper, Amanda Callaghan, Richard M. Sibly, Isabelle Colson, Bastiaan Jansen, Donald Gilbert and John K. Colbourne. "Daphnia as an Emerging Model for Toxicological Genomics." 2, (2008): 165-328.
- Shultz, S., H. S. Baral, S. Charman, A. A. Cunningham, D. Das, G. R. Ghalsasi, M. S. Goudar, R. E. Green, A.
 Jones, P. Nighot, D. J. Pain and V. Prakash. "Diclofenac Poisoning Is Widespread in Declining
 Vulture Populations across the Indian Subcontinent." *Proc Biol Sci* 271 Suppl 6, (2004): S458-60.
- Singer, H, S Muller, C Tixier and L Pillonel. "Triclosan: Occurrence and Fate of a Widely Used Biocide in the Aquatic Environment: Field Measurements in Wastewater Treatment Plants, Surface Waters, and Lake Sediments." *Environmental Science & Technology* 36, no. 23 (2002): 4998-5004.
- Singer, W., T. Opfer-Gehrking, B. McPhee, M. Hilz, A. Bharucha and P. Low. "Acetylcholinesterase Inhibition: A Novel Approach in the Treatment of Neurogenic Orthostatic Hypotension." *Journal of Neurology, Neurosurgery, and Psychiatry* 74, no. 9 (2003): 1294-1298.
- Sirtori, C., A. Zapata, W. Gernjak, S. Malato and A. Aguera. "Photolysis of Flumequine: Identification of the Major Phototransformation Products and Toxicity Measures." *Chemosphere* 88, no. 5 (2012): 627-34.
- Tamura, I., K. Kagota, Y. Yasuda, S. Yoneda, J. Morita, N. Nakada, Y. Kameda, K. Kimura, N. Tatarazako and H. Yamamoto. "Ecotoxicity and Screening Level Ecotoxicological Risk Assessment of Five Antimicrobial Agents: Triclosan, Triclocarban, Resorcinol, Phenoxyethanol and P-Thymol." J Appl Toxicol 33, no. 11 (2013): 1222-9.

- Taylor, Palmer. In *Goodman & Gilman's the Pharmacological Basis of Therapeutics*, 12, 242 256: McGraw-Hill Medical New York, 2011.
- Tessier, A. J., M. A. Leibold and J. Tsao. "A Fundamental Trade-Off in Resource Exploitation by Daphnia and Consequences to Plankton Communities." *Ecology* 81, no. 3 (2000): 826-841.
- Wollenberger, L., B. Halling-Sorensen and K. O. Kusk. "Acute and Chronic Toxicity of Veterinary Antibiotics to Daphnia Magna." *Chemosphere* 40, no. 7 (2000): 723-30.
- Yager, Tracy J. B., Edward T. Furlong, Dana W. Kolpin, Chad A. Kinney, Steven D. Zaugg and Mark R.
 Burkhardt. "Dissipation of Contaminants of Emerging Concern in Biosolids Applied to
 Nonirrigated Farmland in Eastern Colorado." *JAWRA Journal of the American Water Resources Association* 50, no. 2 (2014): 343-357.
- Zalasiewicz, J., M. Williams, W. Steffen and P. Crutzen. "The New World of the Anthropocene." Environmental Science & Technology 44, no. 7 (2010): 2228-2231.
- Zein, M. A., S. P. McElmurry, D. R. Kashian, P. T. Savolainen and D. K. Pitts. "Optical Bioassay for Measuring Sublethal Toxicity of Insecticides in Daphnia Pulex." *Environ Toxicol Chem* 33, no. 1 (2014): 144-51.
- Zein, M. A., S. P. McElmurry, D. R. Kashian, P. T. Savolainen and D. K. Pitts. "Toxic Effects of Combined Stressors on Daphnia Pulex: Interactions between Diazinon, 4-Nonylphenol, and Wastewater Effluent." *Environ Toxicol Chem*, (2015).

ABSTRACT

CONTAMINANTS OF EMERGING CONCERN: EFFECTS OF KNOWN NEUROACTIVE AGENTS, ANTIBIOTICS, AND CHEMICALLY UNCHARACTERIZED PHOTODEGRADATES ON BEHAVIOR AND PHYSIOLOGY ON DAPHNIA PULEX

by

VIBHUTI MATTA

August 2015

Advisor: Dr. David Pitts

Major: Pharmaceutical Sciences

Degree: Master of Sciences

Emerging contaminants such as pharmaceuticals and personal care products (PPCPs), herbicides, pesticides, plasticizers, fire retardants, polycyclic aromatic hydrocarbons (PAHs), and other organic waste are increasingly being detected in surface water and ground water. These contaminants can enter into the environment through wastewater treatment plant effluent and agriculture runoff. Many of these emerging contaminants tend to be biologically active at very low concentrations, typically occur in water as part of complex mixtures, and may impact biota at concentrations not detected using traditional toxicity tests (e.g. LC 50 tests).

This study focuses on utilizing novel *Daphnid* optical bioassays to examine the toxicity of selected emerging contaminants. The chemicals selected for this study are found in surface water. Chemicals that are known neuroactive agents were selected. Anticholineesterase, physostigmine(drug) and diazinon(insecticides)[cholinergic system], and the antidepressant, fluoxetine[serotonergic system]. Triclosan and triclocarban are antibiotics that are used in antibacterial soaps and a number of other products, and these chemicals and their transformation products resulting form photodegredation. They do not have any known biological targets within *Daphni*. Two different optical tracking assays were used to evaluate changes in *Daphnid* swimming behavior *Daphnid* cardio-respiratory function as a result of exposure to diazinon,fluoxetine, triclosan, triclocarban and photodegredates of the two antibiotics.

AUTOBIOGRAPHICAL STATEMENT

I was born and bought up in the city of Mumbai, India. I have loved and admired science since I was a child, especially the biology and chemistry part and therefore decided to take pharmacy as my major. I graduated from University of Mumbai with a Bachelor's in Pharmacy and decided to pursue my masters in United States of America. I researched many programs and university and found that Wayne State University met most of needs and the best was that it was an interdisciplinary program. After doing rotations I joined the laboratory of Dr. Pitts and I was very happy to do so. This lab taught me what an interdisciplinary study actually means since it also involved understanding from the environmental engineering and biological sciences perspective.

When I look back to my first day in Wayne State University and when I look at myself now I can see how much this journey has made me learn and grow as an individual. I am very excited to be graduated and climb the ladder further ahead in my career path. I thank everyone who has helped me through this journey

81